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Question Id : 5362281 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension

The table below provides data on the number of candidates who appeared (A) and qualified
(@) in a test during the years from 2014 to 2019 from five different zones J, K. L. M and N.
In accordance with the table, answer the questions 1- 5:

Year — wise Number of Candidates from Different Zones
Zon J K L M N

el lTalalalalalaelalalala
2014 320 | 250 | 350 | 140 | 380 | 220 | 420 | 240 | 620 | 260
2015 460 | 340 | 690 | 420 | 690 | 440 | 740 | 330 | 620 | 480
2016 650 | 490 | 770 | 450 | 590 | 480 | 830 | b60 | 640 | 420
2017 T40 | 570 | b40 | 340 | 720 | 320|930 | 640 | 780 | 620
2018 880 | 480 | 660 | 520 | 860 | 680 | 1140 | 520 | 990 | 690
2019 920 | 560 | 1060 | 640 | 1030 | 740 | 1420 | 1140 | 1180 | 940

Sub questions

Question Number : 1 Question Id : 5362282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0


Dhruv Vashisht
Stamp

Dhruv Vashisht
Stamp


The difference between the number of candidates who appeared and qualified in the test
from Zone-M in the given period was the second lowest in the year :

(1) 2014 (2) 2016
(3) 2017 (4) 2019
Options :
5362281. 1
5362282.2

5362283.3
5362284. 4

Question Number : 2 Question Id : 5362283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
The number of candidates who appeared in the test from Zone — K in the year 2017 was
approximately what percentage of the number of candidates who qualified the test from the
Zone — L in the year 2019:
(1) 88 % (2) 83%
(3) 73 % 4y 68 %
Options :
5362285. 1
5362286. 2
5362287.3
5362288. 4

Question Number : 3 Question Id : 5362284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What was the average number of candidates who appeared in the test from Zone — N over all
the years together?

(1) 810 (2) 815

(3) 825 (4) 805

Options :

5362289. 1

53622810.2

53622811. 3

53622812. 4

Question Number : 4 Question Id : 5362285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The ratio of the number of candidates who appeared in the test from the Zone — J in the
vear 2014 to the number of candidates who qualified the test from the Zone — M in the year
2016 was :

(1) 4:7 (2) 4:9

(3) 9:4 4 8:13

Options :

53622813. 1
53622814.2
53622815.3
53622816. 4

Question Number : 5 Question Id : 5362286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The total number of candidates who qualified the test in the year 2018 and 2019 together
was the second highest in the zone :
(1) J 2y N
(3 K 49 L
Options :
53622817. 1
53622818.2
53622819. 3
53622820. 4

Question Id : 5362281 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)



Question Label : Comprehension
ute fafa= &t 9 3, K L, M 3R N @ 99 2014 7 2019 % 20 et e § a1 91 (A) 997 T09
U T (Q) HSTHET i WA WEHl HART e e § Iuemd E | Aners 6 AT, U (15)
I A

J K L M N
Al Qq A Q| A Q A Q A Q

2014 | 320 | 250 | 350 | 140 | 380 | 220|420 | 240 |620 |260
2015 | 460 | 340 | 690 | 420 | 690 | 440 | 740 | 330 |620 |480
2016 | 650|490 | 770 | 450|590 | 480|830 |560 |640 |420
2017 | 740 | 570 | 540 | 340|720 | 320|930 | 640 | 780 |620
2018 | 880 | 480 | 660 | 520 | 860 | 680 | 1140 | 520 | 990 | 690
2019 | 920 | 560 | 1060 | 640 | 1030 | 740 | 1420 | 1140 | 1180 | 940

Sub questions

Question Number : 1 Question Id : 5362282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

41 e waEfy § M-%7 8 90 5 S5 9 997 Arg I T SpAiay i e & s H oA 99 § gE
TEE = 9T

(1) 2014 (2) 2016
(8 2017 (4) 2019

Options :

5362281. 1
5362282.2
5362283.3
5362284. 4

Question Number : 2 Question Id : 5362283 Question Type : MCQ Option Shuffling :/No Is Question'Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a9 2017 9 & — K o w4 8 s34 aiet Al sl e 9y 2000 8 a0 L S uT S s o
=1 AT 1 T A i 9r?

(1) 88 % (2) 83%
(3) 3 % (4) 68%

Options :
5362285.
5362286.
5362287.
5362288.

AW N -

Question Number : 3 Question Id : 5362284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

?

TR F W P A i ge § & N ¥ e 5 g are st $ s e e

(1) 810 @ 815
3 825 (4) 805

Options :
5362289. 1
53622810.2
53622811.3
53622812. 4

Question Number : 4 Question Id : 5362285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o 2014 § J-&F B WA 4 S34 97 A=A 1 FEAr w0 saE 99 2016 § M- 8 g 9
seafdar i s fi e E o

(1 4:7 (2) 4:9
(3) 9:4 4y 8:13
Options :
53622813. 1
53622814.2
53622815.3
53622816. 4

Question Number : 5 Question Id : 5362286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
a4 2018 = 2019 F fow vw @y ol ¥ A W Tn st B w5 wen R e 1 e e
SAfehan a1 7

(1) J 2 N
(3) K 4 L

Options :

53622817. 1

53622818.2

53622819.3

53622820. 4

Sub-Section Number : 2
Sub-Section Id : 5362282
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An open classroom environment marked by sharing and caring by teachers and students in

their interchanges will be most helpful for which level of teaching?

(1) Memory level (2) TUnderstanding level

(3) Reflective level (4) Autonomous develagpment Ievel

Options :

53622821. 1
53622822.2
53622823.3
53622824. 4

Question Number : 6 Question Id : 5362287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT T G AT AE AATE U I ATE § H24pi 2 S Uh-gE H S Tad 7, UH e

T T4 = a1 g=5EE w2 Y

(1) T (2) wFEY T
(3) Tl = (4) =T T T
Options :
53622821. 1
53622822.2
53622823.3
53622824. 4

Question Number : 7 Question Id : 5362288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which will be the correct hierarchical sequencing for the following types of learning?
(A) Diserimination learning

(B)  Signlearning

(0 Concept learning

(D) Problem solving learning

(E) Rule learning

Choose the correct answer from the options given below :
(1) (B). (A). (C). (E) and (D) (2) (A). (B). (E). (D) and (C)
3 D). (C). B (A) and (E) (4) (C). (D). (E). (A) and (B)
Options :
53622825. 1
53622826.2

53622827.3
53622828. 4

Question Number : 7 Question Id : 5362288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FETTATEs TR o ST o T wA uEEe = w5

(A)  Taudmm st
(B)  T#a A
(C)  auwm A
(D)  FmEm FEA i
(E) Trem sl
== 153 T e ° 5 TF S g
O (®.(A).(C),. (E) AR D) @ @.@). B. D) (©
(3 (D). (C). (B), (A) =i (E) 4) (C). (D). (B). &) = (B)
Options :
53622825. 1
53622826. 2

53622827.3
53622828. 4

Question Number : 8 Question Id : 5362289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research forms, aims primarily at putting to use the theoretical
advances with an eye on exploring the potential for generalizability?

(1) Fundamental research (2) Evaluative research
(3) Action research (4) Applied research
Options :
53622829. 1
53622830.2
53622831.3
53622832. 4

Question Number : 8 Question Id : 5362289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT FAAT o foq0 F9=A1 il @IS T Figd 24 % @19 Feiaigd § 5 F 190 O g
EZT TG F T W S B B Y

(1) oo o (2) T wE
(3)  =mEreaF mE (4) T e
Options :
53622829. 1
53622830. 2
53622831.3

53622832. 4



Question Number : 9 Question Id : 53622810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following intellectual characteristics in a teacher need nurturing in order to
accomplish subjective well-being leading to effectiveness in motivating and inspiring
students of college level education?

(1) Cognitive intelligence related (2) Emotional intelligence related
(3 Social intelligence related (4) Spiritual intelligence related
Options :
53622833. 1
53622834.2

53622835.3
53622836. 4

Question Number : 9 Question Id : 53622810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Terfammera T i e § e gftufs e w0 A 2§ o w afinfe od g e §

T S % T ST A g A E Sigh 0 HOE e T STk 7
(1)  TFHAT dhg TEHl (2)  wEETEE iy HE
(8) Tt dfg mEHt (4) e i Tad

Options :

53622833, 1

53622834.2

53622835. 3

53622836. 4

Question Number : 10 Question Id : 53622811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

StatementI: Instructional technologv i a network of techniques pressed into service for
realizing instructional objectives.

Statement II : Computer-aided instruction can replace the feacher if the goal of education is
personality development.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are falze

(3) Statement I 15 correct but Statement II is false

(4) Statement I is incorrect but Statement II is true
Options :
53622837.
53622838.

53622839.
53622840.

R S

Question Number : 10 Question Id : 53622811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ElERle e R

FoA (D) :  FAEACEE S H [ A F A T B v F T aEA B oA SIS

e (ID) :  =ie oafFaea ek e 1 o6 & a1 Bgel Uiss THam ST i T e W 7 |
ST FUAT R A H R el 8 H A I T

(1) o IR I EE 59 7 |
(2 FoE LR M2 7=a 2 |
(3) w19 2 T FoA 7o 2 |
(4) A I 3Ee 7 g = o7 2 |
Options :
53622837. 1
53622838.2

53622839. 3
53622840. 4

Question Number : 11 Question Id : 53622812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In a research project using ‘triangulation’ approach which of the following can form part of

the investigation on studying “parental participation, attitude and problems"?

(A) Interview

(B) Observation

(C) Tests

(D) Soclometry

(E) Focused group discussion

Choose the correct answer from the options given below :

(1)  (A). (B)and (C) only (2) (C). (B)and (D) only
(3)  (C). (D) and (E) only (4)  (A). (B)and (E)enly
Options :
53622841, 1
53622842.2
53622843, 3
53622844. 4

Question Number : 11 Question Id : 53622812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘Tag=A S9FE F T F Al @y afEre 8 et § 5 w6 afiaede aeied, st o
AHENE] | F ASEE WA= A A T 2 Y

(A) T,

B e
(C) W
(D) TuTEEE

(E) 2 ogz ==

Fr 57 T fae 8 | wE I g

(1)  Fa (Q), (B) 77 (C) @) ¥ (C). (B) 31 (D)
(3)  Fa= (C). (D) 31 (E) (4) T (A), (B) 91 (E)
Options :

53622841. 1



53622842.2
53622843.3
53622844. 4

Question Number : 12 Question Id : 53622813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which method of research the independent variable is manipulated to observe and
measure its effect on dependent variable?

(1) Ex-post facto method (2) Experimental method

(3) Case study method (4) Historical method

Options :

53622845. 1
53622846.2
53622847.3
53622848. 4

Question Number : 12 Question Id : 53622813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tfafiag =0 o g Bl § =93 =9 = onfae =0 W 9 veE W ged v O #F fow =Een
T T R T

(1) T fafa @) T E
(3 FE Ay (4) v
Options :
53622845. 1
53622846. 2
53622847.3
53622848. 4

Question Number : 13 Question Id : 53622814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which of the following there is considerable scope for violation of research ethics?
(A) Problem formulation

®B) Data interpretation

(©) Hypothesis making

(D) Reporting of research results

(E) Using research tools prepared by others

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2)  (B). (C) and (D) only

(3) (B). (D) and (E) only (4) (C). (D) and (E) only

Options :

53622849. 1
53622850. 2
53622851.3
53622852. 4

Question Number : 13 Question Id : 53622814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



fretietian = & Thes oy Afawean & Tgaa & T a2 7
(A)  FHET TfaarE

(B)  wEhsi il =

(C) TR

(D) =T RO 1 FEEE &

(E) =5 W1 10 M0 90 WA T

= f= 7 o § @ T 5 9
(1) == (A). (B) #T(C) (2) == (B), (C) 37 (D)

(3) = (B), (D) #it (B) @) = (C), (D) 3 (E)

Options :

53622849. 1
53622850. 2
53622851.3
53622852. 4

Question Number : 14 Question Id : 53622815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: A research hypothesis is a conjectural statement postulating the relationship

among variables with a view to advance solution to the problem of study.

Statement IT : The Non-probability sampling procedures wdg the best estinfate for the

population parameter.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is correct but Statement II is false

(4) Statement I is incorrect but Statement IT is true

Options :

53622853. 1
53622854.2
53622855.3
53622856. 4

Question Number : 14 Question Id : 53622815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
53622853.
53622854.
53622855.
53622856.

AW N =

Question Number : 15 Question Id : 53622816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the characteristics in classroom teaching behavior as given below will he classified
as a part of formative assessment?

(A) The teacher azsks question to elicit elassification from students.

(B) The teacher specifies the level of mastery attained by students.

(C) The teacher prompts and probes the students while makinggresertﬁtlm_

(D) The teacher pauses for a few seconds. looks at students ai’nci asks 'quéé‘ti’c‘n"‘rls.

(E) The teacher indicates performance criteria and given judgemental values.

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (A). (Cyand (D) only
(3) (B). (C) and (D) only (4) (C), (D) and (E) only
Options :
53622857. 1
53622858. 2
53622859. 3
53622860. 4

Question Number : 15 Question Id : 53622816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



w71 | foam =een F A= v n F agen R w1 = geaEA F 9 F F=9 ° i

J[.I/

(A) T @ TS O FE % A ST e T

(B)  TEN A O 1 TS e % TR W s Ay e

(C) TR & I TSI DT T SIS FAT £ a9 S w #
(D)  HETF T HHSH % [0 THAT 7 [ D S I Il

(B) 1A% Fomea ey i 3T w7 ST o 9o S

1 T2 = Toepei | # wF1 = g -
(1) a9 (A). (B) #7 (C) (2) ¥4 (A), (C) =ik (D)
(3  Fa4 (B). (C) ¥ (D) (4) Fa (C). (D) ¥ (E)

Options :

53622857. 1
53622858.2
53622859. 3
53622860. 4

Question Number : 16 Question Id : 53622817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Poor listening by the audience leads to

(1) Appreciating the speaker (2) Wild imaginations

(3) Inaceurate inferences (4) Disrespecting the speaker
Options :
53622861. 1
53622862. 2

53622863. 3
53622864. 4

Question Number : 16 Question Id : 53622817 Question Type : MCQ:Option Shuffling ::Neo Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST I FELE THE AT AT 2

(1) =941 = 989 &0 (2) T T

(3) WY s (4) =T = e

Options :

53622861. 1
53622862. 2
53622863. 3
53622864. 4

Question Number : 17 Question Id : 53622818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

LastI List IT
(Authors) (Communication concepts)
(A) Anstotle (I} SMCR — Sender, Message, Channel —
receiver — Model
(B) Shannon and Weaver (II) Circular Communication
(C) Wilbur Schramm (III} Speaker — Centred Communication
(D) David Berlo (IV) Top-down. Linear communication

Choose the correct answer from the options given below :

(1) (A)-D. B)-(ID). (C)-(I1D), (D)-(IV)
(2 (A(ID, (B)-(IID), (C)-(IV), (D)-D)
(3)  (A)-(II). (B)-(IV). (C)-(ID). (D)-(I)
@ (A)-aOW. B)-@. (O)-dID), (D)-ID)

Options :

53622865. 1
53622866. 2
53622867.3
53622868. 4

Question Number : 17 Question Id : 53622818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o1 i F-11 & Fafem Him
i 1T
() (T o)
@ O I S, 2, S
o=y
(B) T AR A ) TE F=
(C) Tamsm 3 ([IL) =Fa1 Fi=d =0
D) 3fs = @) = & 4, e =

1) (A)-[. B)-3D. (C)-(III), (D)-AV)
(2 A-ID. B)-1D. (0)-aV). D)-D
(3) (A, (B)-IV), (O)-aD. (D)-(D
4 (A)-IV), B)-@. (C)-A1). (D)-(ID

Options :

53622865. 1
53622866. 2
53622867. 3
53622868. 4

Question Number : 18 Question Id : 53622819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the chronological sequence of the following countries opting for educational

broadcasting channels
(A) Great Britain

(B) The United States
(G Australia

(D) India

(E) Canada

Choose the correct answer from the options given below :
(1) (B). (A). (E). (C). (D) (2) (0). (D), (E). (A). (B)

(3) (D). (E). (B). (C). (A) 4 (A (B). D), (E).(C)

Options :

53622869. 1
53622870.2
53622871.3
53622872. 4

Question Number : 18 Question Id : 53622819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST TEWEE Sl T g ATl e 2 o ieEE i fEiad i |
&) 7

(B) TS wEN

(C)  =i=fern

@) =

(E)

g

Fr= o7 ™ fammen |# @ wE e g9
(1) (B). (A). (E). (C). (D) (2) (C). (D). (E). (A). (B)

3y (D). (E). B).(C). (A (4} (A). (B), (D). (E). (C)

Options :

53622869. 1
53622870.2
53622871.3
53622872. 4

Question Number : 19 Question Id : 53622820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Free and unlimited use of non-verbal cues enhance the communicative

azpects of classroom teaching.

Statement II : A pleasant persona of the teacher enlivens the classroom eco-system.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are falze

(3) Statement I 15 correct but Statement II is false

(4) Statement I 15 incorrect but Statement IT is true

Options :

53622873. 1
53622874.2
53622875.3
53622876. 4

Question Number : 19 Question Id : 53622820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a2 e fem m F

we ([): TR Tehdl = B9 U HAR(HG TA He H I o HEEieas SEaEl = sel E |

Ty (ID) : AT 1 SR =Aiwed &1 % A F1 A= w0 5 2
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(1) FEIATIIFTAZ |
(2) FE AT O3 o4 & |
(8) 9 15T 7 foha o 1170 2 |

(4) w1 AE 2 g wA Mo 2|

Options :

53622873. 1
53622874.2
53622875.3
53622876. 4

Question Number : 20 Question Id : 53622821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The consequences of effective classroom communication are

(A) Enhanced expectations of teacher from students
B) Learning as satisfying pursuit

(C) Increased promotional prospects for teachers
(D) Enabling students to achieve goals

(E) Positive learning outcomes

Choose the correct answer from the options given below :
(1 (A). (B). (C) only (2) (B). (C). (D) only
(3)  (C). (D). (E) only (4)  (B). (D). (E) only

Options :

53622877. 1
53622878.2
53622879. 3
53622880. 4

Question Number : 20 Question Id : 53622821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeaT T T TEN % °E gy g

(A) BT E SETF h qE 5 AVA

(B) AT AEE ST F =90

(©)  weamT F fom =i gu Wt F s
(D) = i wiftd = Tor i = gaE S
(E) TFWTF 09T Iiasa

I To3 T et § ¥ wE s g

(1) F== (A), (B) 37 (©) (2) F= (B), (C) = (D)
(3) = (C), (D) = (E) (4) = (B). (D) & (B)

Options :

53622877. 1
53622878.2
53622879. 3
53622880. 4

Question Number : 21 Question Id : 53622822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What part of 2 1s E'.’
12 8
(D (2)

(3) 4)

-
m|'—‘ ~1| ea
pal @ wol e

Options :

53622881. 1
53622882.2
53622883.3
53622884. 4

Question Number : 21 Question Id : 53622822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
53622881.
53622882.
53622883.
53622884.

AW O -

Question Number : 22 Question Id : 53622823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Rajiv, Sanjiv and Vijay join a running race. The distance 1z 1500 meters. Rajiv beats Sanjiv
by 30 meters and Vyay by 100 meters. By how much could Sanjiv beat Vijay over the full
distance if they both ran as before?

(1) 72.3 meters (2)  T71.5 meters
(3) 71.4 meters (4y 70.2 meters
Options :
53622885. 1
53622886. 2

53622887. 3
53622888. 4

Question Number : 22 Question Id : 53622823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T, Tea @ g9 9 uh dig afaEitn 4 e o, e F g 1500 i, 2 TSE T FeE w5
30 . T ¥z oI5 T A F 100 W T 9 D51 | T 510 H st s, s e e g
T b2 wiear fE =F0 T Tee S < B

(1 7231 @ 71.5%,

(3)  TL4T (4 7027

Options :

53622885. 1

53622886. 2

53622887. 3
53622888. 4

Question Number : 23 Question Id : 53622824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: If you know the length of two sides of a right angled triangle then the length
of the third side can not be found.

Statement I : The internal angles of a triangle add upto 180°,

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3 Statement I is correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement II is true
Options :

53622889. 1
53622890. 2



53622891. 3
53622892. 4

Question Number : 23 Question Id : 53622824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
/= 31 Fee few T
T (@) : =2 A T wEw s o et i e S 2, W S g o e T e
T =FA

Fu (I) : Torei f15= = oa: 1 =60 =2 180° =ra1 2 |

ST FYA F AEE A SR [Gedl § H wR T g

() =9 I =M =8 7 |
(2) w1 &R A = 3 |
(3)  =wwF Iue 2 T #oa 1o 2 |
4 w13 & g o IL 2 |
Options :
53622889. 1
53622890. 2

53622891. 3
53622892. 4

Question Number : 24 Question Id : 53622825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The given equation becomes correct after interchanging two signs. One of the four
alternatives under it specifies the interchange of signs in the equation which when made will
make the equation correct.

Find the correct alternative?

9+5+4x3-6=12
(1) + and — (2) —+ and’=
(3) + and x 4y -+ and®&@
Options :
53622893. 1
53622894. 2

53622895. 3
53622896. 4

Question Number : 24 Question Id : 53622825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

st =1 A H T oREes w9 8 5 T o 96 A 9 2| e e =R fHEew § wE

faffae 2 % mi o =gl @0 55 21 319 9NEaT - TR ST, S JE E S

wEl Torhed #1 T

9+Hh+4x3-6=12

(1)  + 3% - @ =3 -

(3 + T % 1) = 3fft x

Options :

53622893. 1
53622894.2
53622895. 3
53622896. 4

Question Number : 25 Question Id : 53622826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Find the odd one out in following sequence :
1. 5. 14. 30. 50, 55, 91
(1) 14 (2) 30
(3) 50 (4 585
Options :
53622897. 1
53622898. 2

53622899. 3
536228100. 4

Question Number : 25 Question Id : 53622826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fa e

Ffertaa 4ol @ § fasE 3% T

1. 5. 14, 30. 50, 55. 91
(1) 14 (2) 30
(3) 50 (4) 55
Options :
53622897. 1
53622898.2

53622899. 3
536228100. 4

Question Number : 26 Question Id : 53622827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“Fat Krishnadatta eats either during day or night, Fat Krishnadatta does not eat during
day, therefore fat Krishnadatta eats during nieht”.

The above is an example of which type of inference?

(1) Comparison (upmana) 2) Nerbaltestimony (Shabda)
(3) Negation (Anupalabdhi) (4) Impli€ation (Arthapatti)
Options :

536228101. 1
536228102. 2
536228103. 3
536228104. 4

Question Number : 26 Question Id : 53622827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
o FoE A A A § w2 g w9 8, 9 FonE 9§ @, oe 9 $enes g
. ﬁ ln

I SRR e T T ey 2 7

(1) g (3TH) (2) HifEs T (72)
(8)  @vEA (wETEEY) (@) fafeasd (sredufa)
Options :

536228101. 1
536228102. 2
536228103. 3
536228104. 4

Question Number : 27 Question Id : 53622828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A and B play Football, Cricket and Hockey. B and C play Hockey and Badminton. C and D
play Badminton and Tennis. D and A play Football, Cricket and Tennis. Find out the correct
answer among the following :

(A) C does not play Cricket

(B) B and D both play Tennis

(C) A plays football, Cricket and Badminton

(D) A, Band D play Football and Cricket

(E) Except B all play Tennis

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (E) only (2) (A), (D) and (E) only
(3) (A), (B) and (C) only (4) (C), (D) and (E) only
Options :

536228105. 1
536228106. 2
536228107. 3
536228108. 4

Question Number : 27 Question Id : 53622828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A 1 B Teare, TFHe a9 7l @e 7| B #t C 7 ¥ ssiged @end | C @R DesiEes Fhnae
oo 2 | D 3 A 29, e 9 2F =ed 2 | (Fefafas 3 3 998 = =)

(&)  C e 7 TEa # |

(B) B =R DaA 2HE @ 2 |

(C) A veww, Tohehe a9 SIstes Ted & |

(D) A, BT D e a9 e @od |

(B) B wiaisd osfi 2Fm m@em 2 |

T 22 T T o watE STaed S g

(1) =9 (A), (B) 31T (B) (2) a9 (A). (D) #1 (E)
(3) = (A). (B) #T (C) (4 a7 (0). (D) 5 (E)
Options :

536228105. 1
536228106. 2
536228107. 3
536228108. 4

Question Number : 28 Question Id : 53622829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What will come in place of the question mark (?) in the following series?

T O LA

1) M 2 G
3 B 4 E
Options :

536228109. 1
536228110. 2
536228111.3



536228112. 4

Question Number : 28 Question Id : 53622829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o

TeAleafiad amEen § 7oA Foe % e Oy A

UO.L?A

1 M 2 G
(3) B 4y E
Options :

536228109. 1
536228110. 2
536228111.3
536228112. 4

Question Number : 29 Question Id : 53622830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If the day before yesterday was Friday, what will be the third day after the day after
tomorrow?

(1) Friday (2) Saturday
(3) Thursday (4) Wednesday
Options :
536228113, 1
536228114.2

536228115.3
536228116. 4

Question Number : 29 Question Id : 53622830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afe i 50 F1 T Tacd I 154 IHAT A1 71 AH Al e F TTeiehiiey M e # S

(1)  IFam (2) wiEE
(3) T (4 Fuam
Options :

536228113. 1
536228114. 2
536228115.3
536228116. 4

Question Number : 30 Question Id : 53622831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match the pairs in List I with the pairs of analogies in List IT

List I List IT
(A) Laizard : Reptile (I) Skating : Rink
(B) Tennis : Court (II) Haematology : Blood
(C) Bull: Cow (IIT) Eagle : Bird
(D) Botany: Plant (IV) Wizard : Witch

Choose the correct answer from the options given below :

(1) @-@), B)-I), (C)-IV), (D)-(II)
2)  @)-dD), B)-AV), (C)-D), (D)-(I1I)
(3)  (A)-(ID), B)-A), (C)-1V), (D)-(IL)
4  (A)-IOV), (B)-dII), (C)-aI), D)-@)

Options :

536228117. 1
536228118. 2
536228119.3
536228120. 4

Question Number : 30 Question Id : 53622831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T 14 fan o awi =1 g I8 20w ==e g 9 gafas i

1 Il
(A) ot - wE @ T

®) Fmar (@) P

(C) =15 : 7= (D) =3 sEsl

(D) == T e AV) FGR : FGH

e 3 ™ et | B =9 I R

(D (A)-(D). (B)-(IID). (C)-(IV). (D)-(IT)
(2) (A)-(II). (B)-(IV). (C)-(D). (D)-(11I)
(3) (A)~(III). (B)-(I). (C)-(IV). (D)-(1D)
4 (A)-(IV). (B)-(II). (C)-dD). (D)-(D

Options :

536228117. 1

536228118. 2

536228119. 3

536228120. 4

Question Number : 31 Question Id : 53622832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In computers, a DVD-ROM is :

(1) an optical storage media and it can be written many times.

2) a magnetic storage media and it can be written only once.

(3 an optical storage media and it can be written only once.

(4) a magnetic storage media and it can be written many times.
Options :

536228121. 1
536228122.2
536228123.3



536228124.4

Question Number : 31 Question Id : 53622832 Question Type : MCQ Option Shuffling

Correct Marks : 2 Wrong Marks : 0

Frgm H, 9 4 91 - 79 (DVD-ROM) :

(1)
(2)
(3)
(€]

Options

U ek T WiieAn, T ®E wn fowan = wh # |

536228121. 1
536228122.2
536228123.3
536228124. 4

: No Is Question Mandatory : No

Question Number : 32 Question Id : 53622833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

With regard to computer memory, which of the following statement(s) is/fare TRUE?

€V
(B)
(©
D)

Cache memory is “volatile’ memory.
Magnetic memory iz ‘volatile’ memory.
Flash memory is ‘volatile’ memory.

RAM 1s ‘volatile’ memory.

Choose the correct answer from the options given below :

(1)
(3)

(A) and (B) only (2) (D) only

(A) and (D) only (4) (C) and (D) only

Options :

536228125. 1
536228126. 2
536228127.3
536228128. 4

Question Number : 32 Question Id : 53622833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o
A
B)
(©)
(D)
(1)
(3)

Options :

T = FEg ° et A 5 " w5 T a7

ke

TrEEEE YT STeerEe T
AT HHIG AeTerse Jar # |
W (RAM) =reTres HanT 2 |
T e B 8 A s g

e (A) 91 (B) (2) F= (D)

Fae (A) #E (D) 4) === (C) #r (D)

536228125. 1
536228126. 2
536228127.3
536228128. 4

Question Number : 33 Question Id : 53622834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The Recycle Bin is an area in Windows OS that contains files deleted from the :

(A) hard drive
(B) Pen drive
(C) CD-ROM

Choose the correct answer from the options given below :

(1) (A) only (2)  (A) and (B) only
(3) (B) and (C) only (4) (A) and (C) only
Options :

536228129. 1
536228130. 2
536228131.3
536228132. 4

Question Number : 33 Question Id : 53622834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fr—mmEie Toa fosrs OS | wF UHT &9 2 TR REE 52 S WEE Edl Ae
A) = =

B) THTE

(C) drEi-T= (ROM)

Hr o2 ™ frwem 2 F wE e e

M) FEE @A) (2) FAT (4) 77 (B)

(3)  F= (B) ¥ (O) (4) FAF (A) 37 (C)
Options :

536228129. 1
536228130. 2
536228131.3
536228132. 4

Question Number : 34 Question Id : 53622835 Question Type : MCQ'Option'Shiiffling ©No Is Quiéstion Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following computer memeories on: t.he basmnfmmmsmg
memory access time (from low to high). .

(A) Registers
(B) Main Memory
(C) Secondary Memory

(D) Cache Memory

Choose the correct answer from the options given below :

1 A, (©). D). B 2) (@A) (D). B). (C)
(3 (©).®B). D). A 4  B). (D). A). ()
Options :

536228133. 1
536228134.2
536228135.3
536228136. 4

Question Number : 34 Question Id : 53622835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ted F0 UAEl THEE e (FW T afaw i W) F oman W efatan e aude F wd wm i
TEEH

(&)

(B) =7 wEA

(C)  FHvsd Tmr
(D) = O

= 7 = w8 7 T T T

69)] (A). (C). (D). (B) 2 4. D). 3.
(3  (©.B. DA 4y (B). (D). (A) (O
Options :

536228133. 1
536228134.2
536228135.3
536228136. 4

Question Number : 35 Question Id : 53622836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Minimum number of bits required to store any 3-digit decimal number iz 10.

Statement IT: The data in a digital computer is stored in terms of bits/ bytes where one
PetaByte 1s equal to 25° bits.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement IT is true
Options :

536228137. 1
536228138.2
536228139.3
536228140. 4

Question Number : 35 Question Id : 53622836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
fRFFE R
#om (I):  T6dl 3~ AT S9Fed HI I TR FH o 0 ATEd faed i =Eas g 10 F |
w2h (ID) : Tl fefoee #ogm 9 32 1 fem/922m % =9 § = 75 5@ 2, 761 0% 92 A 250
oz = s B |
ITFA FAA F AT A TR e 5w I o

(1) FEIARIIEA o5 F |
(2) FW IR = e |
(8) FF 1T 2 fhd Fo9 I 7Tea 2 |
(4) w1 A 2 g FeA LT 2|

Options :

536228137. 1
536228138.2
536228139.3



536228140. 4

Question Number : 36 Question Id : 53622837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

India has huge Thorium reserve, a potential source of nuclear energy. This thorium reserve
is mainly confined in the

(1) rocks of Chhota Nagpur plateau (2) muds of Sunderban delta
(3) coastal sands of Kerala sea (4) sands of Thar desert
Options :

536228141. 1
536228142.2
536228143.3
536228144. 4

Question Number : 36 Question Id : 53622837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T % 9T e A 9sn 2, o 5 anivas-gul 59 w6 2 | 9 Y56 g w8

(1)  DEEFE 991 % =5 | (2) T Sed w HES A
(8) = THE % e Wi 4 (4) 4R HeEa % Wi |
Options :

536228141. 1
536228142.2
536228143.3
536228144. 4

Question Number : 37 Question Id : 53622838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the objectives specific to sustainable Development Goals among the following :
(A) Responsible consumption and production

(B) Life on land

(C) Improving maternal health

(D) Ensuring environmental sustainability

(E) Reduced inequality

Choose the correct answer from the options given below :

(1) (A). (B) and (E) (2)  (A). (C), (D) and (E)
(3 (B (0). (D) and (E) (4) (A). (B). (C). (D) and (E)
Options :

536228145. 1
536228146. 2
536228147.3
536228148. 4

Question Number : 37 Question Id : 53622838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Tyafefigs & o oag fawm & 991 & T fafme e =Y gEEE He
(4  FEEE @ T e

®) g

(C)  wigea F=mwea | gaw #

(D) AT =EEEa gt e

(E) FEAEAT

:ﬁé ﬁf’:‘ TPJ P’jaﬁ-;q-- ﬁ 1_31' 'vq—F:l':?lT E[ﬁ?{ -
1) (A). B) 77 (B) @ (@A), (C). D) 5 (B)
Options :

536228145. 1
536228146.2
536228147.3
536228148. 4

Question Number : 38 Question Id : 53622839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : Emissions from diesel vehicles are mlahvﬁglewhmnfulmhumhea_lth

in comparison to petrol vehicles.

Reason (R) : Emissions of hydrocarbons and carbon monoxide are inherently very low

from diesel vehicles.

In the light of the above statements. choose the most appropriate answer from the options

given helow :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) is correct but (R) 1s not correct

(4) (A) is not correct but (R) is correct

Options :

536228149. 1
536228150. 2
536228151.3
536228152. 4

Question Number : 38 Question Id : 53622839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= 71 e B0 T E ¢ U ) AT (A) H FE a9 (R) R E

ATFY (A) : T TR (oA U2 GTEAT 6 derl B Siee aTEl & Sced ST AR # |
TF [R) : e ATl W EESIERER G491 e HHI-SAFESE T SeAS Aedd B H R
TR

T FYA F AEF A AR [99ea] § H Haie S9ge 3 A

1) (A 3 (R) 24 =9 F 3T (R). (A) i TF =wE R
(2) (A ¥R R) I T8 2 e (R). (A) F wE =mmen 15 2
3 (A TF 2T R)TE A A

@ (A= 2w R) 9 R

Options :

536228149. 1
536228150. 2
536228151.3
536228152. 4

Question Number : 39 Question Id : 53622840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A) : Solar ponds. store solar energy in the form of heat.

Reason (R) : Solar ponds contain water with definite gradient of §alt condentration.

In the light of the above statements, choose the most apgm_yrmte answer fmm t_.he.-aptions
given below : ] "

(1) Both (A) and (R) are correct and (R) iz the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) iz NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

4 (A) 1s not correct but (R) 1s correct

Options :

536228153. 1
536228154.2
536228155.3
536228156. 4

Question Number : 39 Question Id : 53622840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



i 71 Fae Bu e E : ww W sl (A) 3T gE i a (R) FE TR

AT (A) TR AT, 919 % £ § B3 61 G9A0 A 3 |
7% (R) : =it T | Ffv=d 9uar § Tavar gigar e 5 2ieg 2 E |

T FEA F ACAF T TAHG SRl d H FEea T I 61

1) (A) 3 (R) 2A @ 2 5 (R), (A) F w5 e R
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Options :

536228153. 1
536228154.2
536228155.3
536228156. 4

Question Number : 40 Question Id : 53622841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following sectors contributed least to the global carbon dioxide emissions in the
yvear 2014 as per IPCC report?

(1) Transportation (2) Agriculture and forest land use
(3) Industry (4) TUtility (Electricity and Heat Production)
Options :

536228157. 1
536228158. 2
536228159. 3
536228160. 4

Question Number : 40 Question Id : 53622841 Question Type : MCQ,Option Shuffling :.:Ne Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

S = A % Frird & e, o 2014 § 3w S AR S A i A e

(1) o () vE A= giw TEm
@ I Em (4) s (e v A
Options :

536228157. 1
536228158.2
536228159. 3
536228160. 4

Question Number : 41 Question Id : 53622842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the correct decreasing order of research paper publications among the following
BRICS countries?

(A) India

(B) China

(8} South Africa

(D) Russia
Options :

536228161. 1
536228162.2
536228163. 3
536228164. 4



Question Number : 41 Question Id : 53622842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fretferiaa o 2o =1 SEEa™ W % TREE % TNy § 521 51 @R B 9 A7
(4) 94

B =F

(C)  =fam arf

D)y ==

= 23 T e | | wE e A

O Q). ®).(©). D @ (B. (D), A). ()
(3) (B). (A). (D), (C) 4) (B). (A). (C). (D)
Options :
536228161. 1

536228162.2
536228163. 3
536228164. 4

Question Number : 42 Question Id : 53622843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MHRD. Government of India, initiative e-ShodhSindhu provides students and researchers

access to

(1) Indian Ph.D thesis in electronic form

(2) e-Journals

3) Plagiarism software
(4) Open source software for training in analytical techniques
Options :

536228165. 1
536228166. 2
536228167. 3
536228168. 4

Question Number : 42 Question Id : 53622843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T T A HHIEA HA - TR T - W AN SAgEEE Al T S9esd el A

(1) WA T TEET SR T

@ i-vm

(3) AT WA

(4)  TEgeTeRs AT F WA % T A =5 A |
Options :
536228165. 1
536228166. 2

536228167. 3
536228168. 4

Question Number : 43 Question Id : 53622844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following ancient educational institutions was situated at the banks of river
Ganga?

(1) Nalanda University (2) Pushpagiri University
(3) Vikramshila University (4) Takshashila University
Options :

536228169. 1
536228170.2



536228171.3
536228172. 4

Question Number : 43 Question Id : 53622844 Question Type : MCQ Option Shuftling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TATafEd § 5 FH -3 T e WA T 960 % ae O E

@ e RHREPEIEE R (2) o fEvataETeE
(3) Tt fEeataE (4) T EvatEea
Options :

536228169. 1
536228170.2
536228171.3
536228172. 4

Question Number : 44 Question Id : 53622845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

As per National Skills Qualifications Framework (NSQF). undergraduate B.Voc. degree
programme requires completion of how many credits of Course Work?

(1) 60 Credits (2) 80 Credits
3 120 Credits (4y 180 Credits
Options :

536228173. 1
536228174.2
536228175.3
536228176. 4

Question Number : 44 Question Id : 53622845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T FIOS AEAT HHAE (U U O UF) % SFEN, S Si-a. (S wEm ¥ e vease-w &

(1)  60wisem @) 80 Ftem
3  120%=zm (4) 180 w®f=za
Options :

536228173. 1
536228174.2
536228175.3
536228176. 4

Question Number : 45 Question Id : 53622846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MHRD. Government of India, Scheme- "ARIIA" stands for

(1) Atal Ranking of Institutions on Innovation Achievements
(2) Atal Research Initiative on Innovation and Academies
3) Academic Ranking of Indian Institutions Achievements

(4) Atal Ranking of Indian Institutions Achievements

Options :

536228177. 1
536228178.2
536228179. 3
536228180. 4

Question Number : 45 Question Id : 53622846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) 12 T 317 T==geea A 399 A=adzd

(2) e e Sifmiaa 919 T=EeE U i

(3) RS T ATE STeT ST w=faH

(4) TS IHET ATF ST SRR TH N

Options :

536228177. 1
536228178. 2
536228179.3
536228180. 4

Sub-Section Number : 3
Sub-Section Id : 5362283
Question Shuffling Allowed : Yes

Question Id : 53622847 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer questions from 46 to 50.

Initially, most children want to do well in school. But the student who has experienced
consistent failure in the classroom tends to lower his own expectations concerning school
success. He may direct his energy outside the classroom to athletics or vouth gangs or to
other areas where he can experience the satisfaction of suceess. The student who has been
negatively evaluated in the classroom rationalizes that school is not important to him
because he believes it is impossible for him to succeed there.

If a student is to continue to expect to do well in school. he needs to receive some positive
evaluations for his academic performance. If an individual is to develop a positive concept of
himself as a student. he needs to perform competently and to receive evaluations that he
interprets to be positive within his own frame of reference. When the student is perceived as
a less competent learner, forces are set in motion that reduce the ehances that his potential
will be developed to its fullest extent in school. The other students and his teachers may
come to view him as having less potential than he really has. The academic goals he sets for
himself and those that are set for him by his well-intentioned teachers may not sufficiently
challenge his true abilities. A student may divert his own personal reseurces to non
academic areas becausze he believes that sueccess in academie.subjects 1= nots D :
he does not apply his maximum efforts to learning school subjeets, he may fai acquire
some of the skills and knowledge he needs as a basis for further lem'mng_

Sub questions

Question Number : 46 Question Id : 53622848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
A student. who is consistently poor performer in the class room. will

(1) Strive hard to achieve his goals later.
(2) Lower the image of the school in his eves.
(3) Aggressively complete with classmates outside the school

(4) Not expect much success in the school.
Options :
536228181. 1

536228182.2
536228183.3
536228184. 4

Question Number : 47 Question Id : 53622849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the likely impact of negative evaluation of the student in the classroom?

(1) He will be jealous of his classmates.

(2) He will divert his attention to other fields for success.

(3) He will perform well in athletics.

(4) He gets into a state of depression.

Options :



536228185. 1
536228186. 2
536228187.3
536228188. 4

Question Number : 48 Question Id : 53622850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Positive evaluation of a student’s academic performance will help him to
(1) perform well in future also

(2) take up athletics

3 make friends
4) be considered as a role model by other students
Options :

536228189. 1
536228190. 2
536228191. 3
536228192. 4

Question Number : 49 Question Id : 53622851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
When a student is considered as less than competent what can be the outcome?

(A) He may feel that his potential is not properly assessed.
(B) He may think that others do not want him to succeed in academics.
(C) Others in the school may rate his potential less than what he actually possesses.
(D) He may divert his personal resources to non-academic areas.
Options :
536228193. 1
536228194. 2

536228195. 3
536228196. 4

Question Number : 50 Question Id : 53622852 Question Type : MCQ Option Shuffling : No'Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The gist of the passage 1s that

(1) A less competent student should seek his future in areas other than academics.

(2) He should put maximum efforts to have a successful academic performance.

(3) Teachers should motivate him to use his personal resources properly.

(4) He should evaluate his own skills and knowledge as against teacher’s expectations,
Options :

536228197. 1
536228198.2
536228199. 3
536228200. 4

Question Id : 53622847 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 53622848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
e BE A FAT H A = A e, d
(1) =% Fied 9ea 0T, (999 % 918 3 98 79 @159 T = 5 |
(2)  SEE T H The %1 TidEd ARcaE B o |
(3) =% 39 THS  WEUNSA W ATHEEA F HG T |
(d)  TFe | ATGH TEAAT H A TE FOT |
Options :
536228181. 1
536228182.2

536228183. 3
536228184. 4

Question Number : 47 Question Id : 53622849 Question Type : MCQ Option Shuffling : NoJds Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

=T H B = THIICEE G 1 A1 SHEIT G9TE w5
(1) == 394 Teriaar & 51 FA o
(2) =% AU SH A A 0 TS wH R ST S |
(3) % UHEZFH T SEAT 0 o
(4)y == wawe F Eul q e s

Options :

536228185. 1

536228186. 2

536228187.3

536228188. 4

Question Number : 48 Question Id : 53622850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228189. 1
536228190. 2
536228191.3
536228192. 4

Question Number : 49 Question Id : 53622851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T FE TE FY TET OFT R, A7 5497 ooy 2 27

(A) = UE gEgE B o 2 5 IEehl ARAiHAl St geArhd 98 A = |
(B) = Tm T o & TR w7 @ 59 HeE 99 § T T8 BE 3 9
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(1) === (A) 5k (B) () == (B) 7R (C)
(3) == (C) 31 (D) (4) == (A) 71 (D)
Options :

536228193. 1
536228194.2
536228195.3
536228196. 4

Question Number : 50 Question Id : 53622852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
55 SIS F AN & -
(1) T T TEH T F] AAGOCE S H SO G S GHEA Ao =i |
(2) =0 TEA AR e = e sieras e s = |
(4 == Tt it o & fEUiE I FiE U S T S - L i |
Options :
536228197. 1
536228198. 2

536228199. 3
536228200. 4

PART II History
Section Id : 5362282
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 5362284
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53622853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In the Early Vedic Period. who was the vrajapati?

(1) The officer who led to battle heads of the fighting hordes
(2) The senior mimister of the king
(3) The officer who presided over the meetings of the tribal assemblies

(4) The village headman
Options :
536228201. 1
536228202. 2
536228203. 3
536228204. 4

Question Number : 51 Question Id : 53622853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BRI e e A et o = - o1 o e e 0

o n

(2) =1 AEE w
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(4

Options :

536228201. 1
536228202. 2
536228203. 3
536228204. 4

Question Number : 52 Question Id : 53622854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following was the first to become a Jaina nun?

(1) Chandana (2) Khema
(3) Sujata (4) Trisala
Options :

536228205. 1
536228206. 2
536228207. 3
536228208. 4

Question Number : 52 Question Id : 53622854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fratetaa 5 = Fi 57 fagolt s el Taei afze of 7

(1 = (2) =
(3 EEEinl (4) T
Options :

536228205. 1
536228206. 2
536228207. 3
536228208. 4

Question Number : 53 Question Id : 53622855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The term ‘stridhana’ is first mentioned in which of the following texts?

(1) Shatapatha Brahmana (2) Sutta Pitaka
(3) Arthashastra (4) Harshacharita
Options :

536228209. 1
536228210.2
536228211.3
536228212. 4

Question Number : 53 Question Id : 53622855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘wHrem vz TRl A SgmE et § A R ae H gan R Y

(1) =y Fram (2) T =
(38) (4) wE=EE
Options :

536228209. 1
536228210. 2
536228211.3
536228212. 4

Question Number : 54 Question Id : 53622856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The enormous wealth accumulated by the Nandas has been mentioned by which early Tamil
author?

(1) Kamban (2) Kulasekhara
(3) Madhurkavi (4) Mamulanar
Options :

536228213. 1
536228214.2
536228215.3
536228216. 4

Question Number : 54 Question Id : 53622856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fopey IT=IA AT SEF A 98 IEE S WA ST S W S5 A B b

(1) == (2) e
(3) TEEE (4) THEER
Options :

536228213. 1
536228214.2
536228215.3
536228216. 4

Question Number : 55 Question Id : 53622857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following statements 1s correct about the Rabatak inscription?

(1) Clarifying the relationship between Kanishka and Kadphises kings

(2) Supplying new information about the last three Mauryan kings
(3) Describing an early form of worship of Vishnu

(4) Describing the coastal trade in early Tamil history

Options :



536228217.1
536228218.2
536228219. 3
536228220. 4

Question Number : 55 Question Id : 53622857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEAE AfEE % T2 °§ eAfatas § T SH-1 w0 TE Y
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Options :

536228217. 1

536228218.2

536228219. 3
536228220. 4

Question Number : 56 Question Id : 53622858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following provides much useful information for determining the beginning
of Gupta Era?

(1) Fa - Hian (2) Hien - Tsang
3 Al - Masudi (4) Al - Biruni
Options :

536228221. 1
536228222.2
536228223.3
536228224. 4

Question Number : 56 Question Id : 53622858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TeteiEs | | e 79 T 5 T o MU F g 8 qEeaye gee A 2 ¢

(1) A Q) =
(8)  ¥=E-mEE (4) wE-=A
Options :

536228221. 1
536228222.2
536228223.3
536228224. 4

Question Number : 57 Question Id : 53622859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“Not even a hundred karohs of my territory are obedient to me in the proper way”

Identify the person whom Sultan Alauddin Khalji was complaining to?

(1) Qazi Mughisuddin (2) Qazi Fakhruddin
(3) Sharaf Qaini (4)  Alaul Mulk
Options :

536228225. 1
536228226. 2
536228227.3
536228228. 4



Question Number : 57 Question Id : 53622859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228225. 1
536228226. 2
536228227.3
536228228. 4

Question Number : 58 Question Id : 53622860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Which of the following was not discovered by Aryabhatta?

(1) The earth 1s a sphere

(2) The earth rotates on its axis

(3) The earth revolves around the sun

4) The shadow of the earth falling on the moon causes eclipses
Options :

536228229. 1
536228230.2
536228231.3
536228232. 4

Question Number : 58 Question Id : 53622860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HEz A Feian 5@ =i =@ e T v

(1) gt T R (@) e B W g B
(3) 9% g % W AR 9Ee e E (4) Wﬁwmwﬁ%mwﬁé
Options :

536228229. 1
536228230. 2
536228231.3
536228232. 4

Question Number : 59 Question Id : 53622861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The first epigraphic evidence of Sati 1s found in which of the following inscriptions?

(1) Eran Pillar inseription of Bhanugupta
(2) Junagadh inscription of Rudradaman
(3) Allahabad Pillar inscription of Samudragupta
(4) Madhuban inscription of Harsha
Options :
536228233. 1
536228234.2

536228235.3
536228236. 4

Question Number : 59 Question Id : 53622861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228233. 1
536228234.2
536228235.3
536228236. 4

Question Number : 60 Question Id : 53622862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the meaning of the Burunjis?

ah) The name of a hill Tribe in Nepal

(2) The name of a recently discovered Neohthic site in Kashmir
(3) Genealogical records from Assam

(4) Mother — goddesses worshipped in Orissa

Options :

536228237. 1
536228238.2
536228239. 3
536228240. 4

Question Number : 60 Question Id : 53622862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228237.
536228238.
536228239.
536228240.

DW=

Question Number : 61 Question Id : 53622863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following Gupta ruler izssued gold coins with the lowest percentage of gold?

(1) Skandagupta (2) Budhagupta
(3) Narasimhagupta (4) Vishnugupta
Options :

536228241. 1
536228242.2
536228243.3
536228244. 4

Question Number : 61 Question Id : 53622863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228241. 1
536228242.2
536228243.3
536228244. 4

Question Number : 62 Question Id : 53622864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The involvement of ladies in the administration was a feature of which of the following
dynasties?

(1) Chahamanas (2) Chandelas
(3) Chalukyas (4) Cholas
Options :

536228245. 1
536228246. 2
536228247.3
536228248. 4

Question Number : 62 Question Id : 53622864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228245. 1
536228246.2
536228247.3
536228248. 4

Question Number : 63 Question Id : 53622865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A manuscript of Dhammapada written in Kharoshthi seript was found from which of the
following places?

(1) Turfan (2) Kashagara
(3) Kuchi (4) Khotan
Options :

536228249. 1
536228250. 2
536228251.3
536228252. 4

Question Number : 63 Question Id : 53622865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228249. 1
536228250. 2
536228251.3
536228252. 4

Question Number : 64 Question Id : 53622866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the Sultan who started the practice of putting on the tanka the name of the mint
town :

(1) Qutbuddin Aibek (2) Ntutmish
(3) Alauddin Khalji (4) Muhammad Tughlag
Options :

536228253. 1
536228254.2
536228255.3
536228256. 4

Question Number : 64 Question Id : 53622866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fFeietiga ® ® T Heam J o T TS I S A SR e o ST 9

(1)  FagEn v () FegarEE
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Options :

536228253. 1
536228254.2
536228255.3
536228256. 4

Question Number : 65 Question Id : 53622867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Sultan himself used to take keen personal interest in the development of agriculture. He
abolished zakat (import duty) on grain. and introduced a measurement standard. which
continued to prevail till the Mughal period. Who was this Sultan?

(1 Balban (2) Alauddin Khalji
(3) Firuz Tughlag (4) Sikandar Lodi
Options :

536228257. 1
536228258.2
536228259. 3
536228260. 4

Question Number : 65 Question Id : 53622867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228257. 1
536228258. 2
536228259. 3



536228260. 4

Question Number : 66 Question Id : 53622868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Amrit Kund, which deals with different exercises and practices for health, was translated
into Persian under which of the following titles?

(1) Khwan-1 Pur Nimat (2) Hauz-ul Hayat
(3) Nuh Sipihr (4) Hasht Bihisht
Options :

536228261. 1
536228262.2
536228263. 3
536228264. 4

Question Number : 66 Question Id : 53622868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) T=E-TEFEE ) =F-39 7E
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Options :

536228261. 1
536228262.2
536228263. 3
536228264. 4

Question Number : 67 Question Id : 53622869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
The Mughal emperors wanted to control the nomadic pastaralytribésof Sind becaise:

(1) they wanted to proselytize them to Islam
(2 they wanted to bring them under the influence of Suhrawardl sufi silsilah

(3) they wanted to make them sedentary to enchance the imperial income
4 they wanted to acquire their huge live-stock for their use
Options :

536228265. 1
536228266. 2
536228267. 3
536228268. 4

Question Number : 67 Question Id : 53622869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T T T = gEe Yo Sl o FEEE e = 9, F =i
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Options :

536228265. 1
536228266. 2
536228267. 3
536228268. 4



Question Number : 68 Question Id : 53622870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Malwa Sultans had constructed a grand Darul-Shifa (hospital) in
Mandu?

(1) Hushang Shah (2) Ghiyas Shah
(3) Mahmud Ehalj I (4) Mahmud Ehalji IT
Options :

536228269. 1
536228270. 2
536228271.3
536228272.4

Question Number : 68 Question Id : 53622870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fom 1 & T weren gearm A Oig ¥ v faune gwe- o (sworara) # fmin ww are
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Options :

536228269. 1
536228270.2
536228271. 3
536228272. 4

Question Number : 69 Question Id : 53622871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Raja/Sultan/poet was entitled Gandharva on aceount of his genius in
the field of music?

(1) Sultan Sikandar Lodi (2) Sultan Husain Sharqi
(3) Raja Man singh of Gwalior {(4) Amir Khusrau
Options :

536228273. 1
536228274.2
536228275.3
536228276. 4

Question Number : 69 Question Id : 53622871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wift & &3 4 sl wana & fou ffafiea @ w0 @ o/ geaq wfa & ed 6 It § seiag
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Options :

536228273. 1
536228274.2
536228275.3
536228276. 4

Question Number : 70 Question Id : 53622872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Who drew the attention of Babur to the fact that during Sikandar Lodi's regime the Hindus
took to learning Persian and were recruited in large numbers to different posts?

(1) Maulana Abdullah Ajudhani (2) Shaikh Abdullah
(3) Shaikh Azizullah (4) Shaikh Abdul Quddus Gangohi
Options :

536228277. 1
536228278.2
536228279. 3
536228280. 4

Question Number : 70 Question Id : 53622872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A F A 3 A% i 5N TRE e e R e i e § fege 3wt i o o w

T | Tt g w e e e

(1) = 3RggE A 2 = T=EE
3) ¥ srEragE (4) @ 37 FE TR
Options :

536228277. 1
536228278.2
536228279.3
536228280. 4

Question Number : 71 Question Id : 53622873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not a prem-margl nirguna bhakti saint?

(1) Mulla Daud (2) Qutban
(3) Manjhan (4) Maluk Das
Options :

536228281. 1
536228282.2
536228283. 3
536228284. 4

Question Number : 71 Question Id : 53622873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= @ = % Tameft T afs =59 795 20

(1) g1 915 (2) Fa=
(8) == (4 TFF T
Options :

536228281. 1
536228282.2
536228283. 3
536228284. 4

Question Number : 72 Question Id : 53622874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following contains the biographies of the sufis of India, and the author
presented it to Jahangir?

(1) Maasir-ul Umara (2) Tazkirat-ul Umara
(3 Akhbar-ul Akhyar (4) Zakhirat-ul Khwanin
Options :

536228285. 1
536228286. 2
536228287. 3
536228288. 4

Question Number : 72 Question Id : 53622874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frerfafea 8 o e 99 9 fegmm 5 ofi o911 g f2 0 2 on e = T 99 e

(1)  #=EE-3a 397 (2) THAERTI-3F FAU
(3)  FEET-IH AR (4) TETE-3F TAHEE
Options :

536228285. 1
536228286. 2
536228287.3
536228288. 4

Question Number : 73 Question Id : 53622875 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The 1llustrated copy of Shahnama of the late sixteenth eentury Mughal schoel was prepared
at the library of which of the following Prince/noble?

(1 Prinece Murad (2) Prince Khurram
(3) Khwaja Abdul Majid Asaf Khan (4) AbddlRahiniKhan-1Khanan!
Options :

536228289. 1
536228290. 2
536228291.3
536228292. 4

Question Number : 73 Question Id : 53622875 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ffefaa § o fom wEee ) i & qerReE § Aol 520 6 Tg ° g Sl § e 1 At ui

.

(1) MEATET 410G (2) TmE=mE @i
(3) AT SEEA TS ATHE W (4) A T EE-T TEE
Options :

536228289. 1
536228290. 2
536228291. 3
536228292. 4

Question Number : 74 Question Id : 53622876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The earliest mention of the use of belt drive for powering gem-cutting comes from which of
the following travellers” accounts?

(1) Peter Mundy and Manrique (2) Bernier and Manucel
(3) Tavernier and Fryer (4y Master Streyvnsham and Georges Roques
Options :

536228293. 1
536228294.2
536228295.3
536228296. 4

Question Number : 74 Question Id : 53622876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Frodl Gl B GORE I T I SEH F [0 Se2 SBd h SEHT Tl SRR @9 Teel RE ATl 6
- ﬁf (‘%:,

(1) e W s A (2) =FER S mE
(3)  ZEtE #R wmE (4) == EAIE AR ST T
Options :

536228293. 1
536228294.2
536228295.3
536228296. 4

Question Number : 75 Question Id : 53622877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following iz the earliest known account of the medieval bhaktas to be found in
a single work?

(1) Bhaktamal (2) Vailsnavtabjya Bhaskar
(3) Chaurasi Vaishnavon ki varta (4) 252 Vaishnavon ki varta
Options :

536228297. 1
536228298.2
536228299. 3
536228300. 4

Question Number : 75 Question Id : 53622877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tfefian § ¥ 550 79 § o990 TEd 99RO 9 a0 U SR e 27

@ il (2) FUEAE G
Options :

536228297. 1
536228298. 2
536228299. 3
536228300. 4

Question Number : 76 Question Id : 53622878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

With regard to Tamil Siddhas which of the following is not correct?

(1) Tirumular was the greatest of the Tamil Siddhas

(2) Tamil Siddhism shows features of anti-Brahmanism and anti-ritualism

(3) Tamil Siddhas laid emphasis on the importance of Siva and Murukan, the Tamil deity
(4) The chief centres of Tamil Siddhas were Tondinadu and Pandinadu



Options :

536228301. 1
536228302. 2
536228303. 3
536228304. 4

Question Number : 76 Question Id : 53622878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Afe gl ® Hed O A 0§ WA w1 weE e e 27

(1)  Tomgem =1 5=t w4 afie fogl § TeE o=

(2) AHE TagaR I SEw T ST -t @am e 2
(38 e fagl 7 o 9o 9fae 299 99 % Weed TSRt
(@) 7= fagl #1 g FE e W miEas 0

Options :

536228301. 1
536228302. 2
536228303. 3
536228304. 4

Question Number : 77 Question Id : 53622879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

By 1914, about three-quarters of the Indian infantry came from which of the following
regions?

(1) Bengal. Bihar and Awadh

(2) Madras, Bombay and Bengal

(3) Punjab. Nepal and North-West Frontier Province
(4) Punjab. Sind and Rajputana

Options :

536228305. 1
536228306. 2
536228307. 3
536228308. 4

Question Number : 77 Question Id : 53622879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1914 o5 ARAE Uget @41 = o H-=19E [GurAl fetertiad § | fra s E oA 9 e

(1) =, ToEr e oy
(2)  =EE, W S AT
(3) T, AU A I vy HEE i
(@)  v=E, T s aegaE
Options :
536228305. 1
536228306. 2

536228307. 3
536228308. 4

Question Number : 78 Question Id : 53622880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When was the infamous section 124-A relating to ‘sedition’ was incorporated into the Indian
Penal code by an Act XXVII?

(1) 1860 (2) 1861
(3) 1870 (4) 1879
Options :

536228309. 1



536228310. 2
536228311.3
536228312. 4

Question Number : 78 Question Id : 53622880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘g & Heiad FeA a0 124-1 1 uge XXVIL 50 9RArE 53 HiEal 3w gAiaE e o an?

(1) 1860 (2) 1861
(3) 1870 (4) 1879
Options :

536228309. 1
536228310. 2
536228311.3
536228312. 4

Question Number : 79 Question Id : 53622881 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In 1850, on the eve of the rise of large-scale industry in India, which of the following was the
most prominent community engaged in the trade of the two principal exportable goods from
the western coast. cotton and opium?

(1) European capitalists (2) Bengali traders
(3) Parsis (4) Chettiars
Options :

536228313. 1
536228314.2
536228315.3
536228316. 4

Question Number : 79 Question Id : 53622881 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1850 4 9ra | o2 UHE % FAF F IF )l 94 25 T ETeingn 8 A 5 e R a2
foata A 2 vaE AR FEE SR SN o S e a7

1) e @ sl =
(3) T (4) =fzEm
Options :
536228313. 1
536228314.2

536228315.3
536228316. 4

Question Number : 80 Question Id : 53622882 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following was not associated with the Lahore resolution adopted by the
Muslim League on 23 March, 19407

(1) Ehizar Hayat Khan (2) Sikandar Hayat Khan
(3) Fazlul Hug (4 Khaliquzzaman
Options :

536228317. 1
536228318.2
536228319. 3
536228320. 4



Question Number : 80 Question Id : 53622882 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fmferfiaa & & # 23 o, 1940 # gfeam o gRT wea wEn e ¥ T4 g9 9t

(1)  faEw s\ =mm (2) oo 599 @H
(3) FAA B (4) T
Options :

536228317.1
536228318.2
536228319.3
536228320. 4

Question Number : 81 Question Id : 53622883 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the reformist Muslim leaders published a modernist urdu journal Tahzib
al-akhlaqg?

(1) Jamalal-dinal-Afgham (2) Sayvid Ahmed Khan

(3 Muhsin al-Mulk (4) Muhammad Ismail Yusuf
Options :
536228321. 1

536228322.2
536228323.3
536228324. 4

Question Number : 81 Question Id : 53622883 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frferfiad & O FF T GuwaTEl Gieer a1 3 U SR TET 2e T qasis Siw— S S v
(1)  SATEEATE- T (2) #HFg wFA @
(8)  HEEA AT (4 TFTE THED 39T

Options :

536228321. 1

536228322.2
536228323.3
536228324. 4

Question Number : 82 Question Id : 53622884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who established on January 15. 1876, the Indian Association for the Cultivation of Science
in Calcutta?

(1) J.C. Bose (2) P.C.Ray
(3) C.V. Raman (4) Mahendra Lal Sarkar
Options :

536228325. 1
536228326. 2
536228327.3
536228328. 4

Question Number : 82 Question Id : 53622884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TietemEs § § T 15 7994, 1876 F1 Few # Iiead UAMEUIE W 3 HeeasE TR AEd

TITTAT =hi 7

(1)  FHL == (@) i

(3)  =id T (4) TFE =S WER
Options :

536228325. 1
536228326. 2
536228327.3
536228328. 4

Question Number : 83 Question Id : 53622885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who summed up the motive behind the partition of Bengal as. “Bengal united is a power;
Bengal divided will pull in several ways™?

(1) Lord Curzon (2) Lord Morley
(3) Alexander Mackenzie (4) H.H.Risley
Options :

536228329. 1
536228330. 2
536228331.3
536228332. 4

Question Number : 83 Question Id : 53622885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frfafian § 2 Free 5= % S F 59 = TeE | = e 06 g Aa OF T B aanad
A1 e o e L e e e

(1) = F44 (2) =S @i
(3)  werst Al (4) vmE T
Options :

536228329. 1
536228330. 2
536228331.3
536228332. 4

Question Number : 84 Question Id : 53622886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following was leading the defence in the trials against the members of INA?

(1) Bhulabhai Desai (2) Jawaharlal Nehru
(3) Mahatma Gandhi (4) Sardar Patel
Options :

536228333. 1
536228334.2
536228335.3
536228336. 4

Question Number : 84 Question Id : 53622886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  gomars 5 (@) AT
(38)  HEww mH (4) TER TE
Options :

536228333. 1
536228334.2
536228335.3
536228336. 4

Question Number : 85 Question Id : 53622887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following was not an ideal of Arya Samaj?

(1) Belief in the authority of the Shastri-class
(2) Fatherhood of God and brotherhood of man
(3 Shuddhi movement

4) Equality between genders
Options :
536228337. 1
536228338. 2
536228339.3
536228340. 4

Question Number : 85 Question Id : 53622887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TAtanan § § 9 O TF IF T H S8 A5 9Tt

(1) == = % uiieE | T

(@) v = frae S 9= % el 99 8 fAeEm
(3)  mig =EEE

(4)  Tomr = = wEE

Options :

536228337.
536228338.
536228339.
536228340.

DW=

Question Number : 86 Question Id : 53622888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which year was the All India Women's Conference was formed?

(1) 1927 (@) 1929
(3) 1931 (4) 1933
Options :

536228341. 1
536228342.2
536228343.3
536228344. 4

Question Number : 86 Question Id : 53622888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) 1927 (2) 1929
(3) 1931 (4) 1933
Options :

536228341. 1
536228342.2
536228343.3
536228344. 4

Question Number : 87 Question Id : 53622889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When did the French finally handed over their Indian territories to India?

(1) 1947 (2) 1950
(3) 1954 (4) 1959
Options :

536228345. 1
536228346. 2
536228347. 3
536228348. 4

Question Number : 87 Question Id : 53622889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) 1947 (2) 1950
(3) 1954 (4 1959
Options :

536228345. 1
536228346.2
536228347.3
536228348. 4

Question Number : 88 Question Id : 53622890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Maharaja of which of the following states signed the instrument of accession only after a

last-minute theatrical show of defiance?

(1) Hyderabad (2) Bhopal
(3 Jaisalmer (4) Jodhpur
Options :

536228349. 1
536228350. 2
536228351.3
536228352. 4

Question Number : 88 Question Id : 53622890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

foefafaa 7 5 fo5g =3 = == 4 339 4 f95E F1 TehE 199 w5 6 9 7 9o 0 aeaen e
(1) ==mEe (2) |

(3)  SEe (4) =ag



Options :

536228349. 1
536228350. 2
536228351.3
536228352. 4

Question Number : 89 Question Id : 53622891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In 1936, which of the following created an ‘Anti-imperialist Peoples Front' within the

Congress?
(1) R.P. Dutt and Ben Bradley {2) Subhash Chandra Bose
(3) Sixth Comintern Congress {4) Phillip Spratt

Options :

536228353. 1
536228354.2
536228355.3
536228356. 4

Question Number : 89 Question Id : 53622891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1936 § fifaiEa § o /e wmrsaE -l 5= 5= wE & @ e

(1) =L 29 @0 59 95d (2) F9™ =5 9™
(3) =3 Fiu= =T (4) Trfem =
Options :

536228353. 1
536228354.2
536228355.3
536228356. 4

Question Number : 90 Question Id : 53622892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to the Calcutta and Howrah Smoke-Nuisances Act the emissions of jute mills were
made subject to regulation. In which year this act was passed by the Bengal Council?

(1) 1853 (2) 1857
(3) 1863 (4) 1872
Options :

536228357. 1
536228358.2
536228359. 3
536228360. 4

Question Number : 90 Question Id : 53622892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“FeTFl UE TG WHE SHAT TR % SHER 2 Wl % Iose WO A T 4| TR sfatem

(1) 1853 (2) 1857
(3) 1863 (4) 1872
Options :

536228357. 1
536228358. 2
536228359. 3



536228360. 4

Question Number : 91 Question Id : 53622893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are found in the Neolithic cultures of India?
(A) Ground and polished stone tools

(B) Ploughs

(C) Bullock carts

(D) Domesticated barley and field pea

Choose the correct answer from the options give below :

(1) (B). (C) and (D) only (2)  (A). (C) and (D) only
(3 (A) and (D) only (4y (B) and (C) only
Options :

536228361. 1
536228362. 2
536228363. 3
536228364. 4

Question Number : 91 Question Id : 53622893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

g i I S § fefead # 5 9 O a2 v
(A)  ToEE N Wifer S A T S

(B) =

(C) &= e

D) = T 0 S SR g

Hre T2 T el | B @E I g

() == (B). (C) =i (D) (2) =Fa# (A). (C) 1 (D)

(3)  =AE (A) 3 (D) (4) === (B) 317 (C)
Options :

536228361. 1
536228362. 2
536228363. 3
536228364. 4

Question Number : 92 Question Id : 53622894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are associated with the Megalithic cultures of India?
(A) Iron tools and implements

(B) Horses

(C) Jorwe ware

(D) Sarcophagi

(E) Dolmens

Choose the correct answer from the options give below :

1) (©). (D) and (E) only (2) (A (B). (C). (E) only
3 (&), (B). (D). (E) only (4) (B). (C) and (D) only
Options :

536228365. 1
536228366. 2
536228367. 3
536228368. 4

Question Number : 92 Question Id : 53622894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AP TR GO B s ®§ F - Tuihn 27

(A) = % dEE s IuEm

® Hs

= f2u T faedt 6 F wE T gR

(1) === (C). (D) 57 (E) (2) F=4 (A). (B). (C). (E)
(3) == (A), (B). D). (E) (4 == (B). (C) 3 (D)
Options :

536228365. 1
536228366. 2
536228367. 3
536228368. 4

Question Number : 93 Question Id : 53622895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following sites have yielded the ‘separate rock edicts’ of Asoka?

(A) Dhauli

(B) Jaugada

(© Sannati

D) Udegolam

Choose the correct answer from the options give below :

(1) (A) and (B) only (2) (A and (C) only
(3) (A). (B) and (C) only (4) (B). (C) and (D) only
Options :

536228369. 1
536228370. 2
536228371.3
536228372. 4

Question Number : 93 Question Id : 53622895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FrafalEs § ¥ & w09 W 99 & 99E e e 27
PN il

B) T

(C) T

(D) zTEm

Fr1 fou o famedl O O TE I w1 =

(1) = (A) 30 (B) 2y = (A) #7 (C)
(3)  FA= (A). (B) # (C) (4) = (B). (C) #W (D)
Options :

536228369. 1
536228370. 2
536228371.3
536228372. 4

Question Number : 94 Question Id : 53622896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the salient features of Mahayana Buddhism?

(A) Worship of the Buddha image
®) Assimilation of local cults
(© The concept of the bodhisattva

(D)  Use of Pali for propagating Buddhism

Choose the correct answer from the options give below :

(1 (A). (C) and (D) only
) (B) and (C) only
(3) (A) and (C) only
4 (A), (B) and (C) only

Options :

536228373. 1
536228374.2
536228375.3
536228376. 4

Question Number : 94 Question Id : 53622896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Frrferiiaa o ® #F W wEEE Wig 95 % g @ B 7
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(1) a4 (A), (C) =11 (D)
(2  F=F (B) 37 (O)
(3)  FEE (A) AT (C)
4)  F=E (A), (B) 3 (O)
Options :
536228373. 1
536228374.2

536228375.3
536228376. 4

Question Number : 95 Question Id : 53622897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Gupta emperor Chandragupta IT was known by which other following name/s?

(A) Devagupta
B) Devaraja
(C) Devaputra

(D) Devavrata

Choose the correct answer from the options give below :

(1) (A) only
(2) (A) and (B) only
(3) (A). (B) and (C) only

4 (B). (C) and (D) only

Options :

536228377. 1
536228378. 2
536228379. 3
536228380. 4

Question Number : 95 Question Id : 53622897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(2) =99 (A) 37 (B)
(3) == (A), (B) #R (C)

4 === (B). (C) 58 (D)

Options :

536228377. 1
536228378. 2
536228379. 3
536228380. 4

Question Number : 96 Question Id : 53622898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the famous commentators on the Manu-Smriti?

(A) Apararka
B) Kulluka
() Medhatithi

D) Vijnanesvara

Choose the correct answer from the options give below :

(1) (A) and (B) only
(2) (C) and (D) only
(3) (B) and (C) only
(4) (A) and (C) only

Options :

536228381. 1
536228382.2
536228383.3
536228384. 4

Question Number : 96 Question Id : 53622898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

oo 1 % 7 ¥ e AT £
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(A) AT
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i
(C)  mefata

@) faTR"
et few v fapeal | @ =R =0 A

(1) = (A) A (B)
(2) = (C) 7 (D)
(3) === (B) #T (C)
(9 AT (A) 7 (C)

Options :

536228381. 1

536228382. 2

536228383.3
536228384. 4

Question Number : 97 Question Id : 53622899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements about Alberuni and his account of India are correct?

(A) He was exiled and ordered to spend ten years in India

(B)  According to him, people of untouchable castes could live only outside the villages

and towns of the four castes
(C) He supported the views of Brahamagupta about the true nature of eclipses

D) According to him, the Hindus think that there is no country like theirs and no
religion like theirs

Choose the correct answer from the options given below :
(1) (B} (C) and (D) only

(2) (A). (B) and (D) only

(3) (C) and (D) only

(4) (B) and (C) only

Options :

536228385. 1
536228386. 2
536228387. 3
536228388. 4

Question Number : 97 Question Id : 53622899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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() a4 (B). (C) 37 (D)
(2) === (A). (B) 58 (D)
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4) === (B) #7 (0)

Options :

536228385. 1
536228386. 2
536228387. 3
536228388. 4

Question Number : 98 Question Id : 536228100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following temples are brick-temples?

(A) Bhitargaon temple, Kanpur
(B) Parsurameswara temple, Bhubaneshwar
() Laxmana temple. Khajuraho

(D) Laxmana temple. Sirpur

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3 (A) and (D) only

(4) (B) and (D) only

Options :

536228389. 1
536228390. 2
536228391. 3
536228392. 4

Question Number : 98 Question Id : 536228100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Ffefia fawedt & @ w81 370 =4

(1) == (A) #T(B)
(2) == (B) #EL(O)
(3) T (A) 37 (D)
(4) == (B) 37 (D)

Options :

536228389. 1

536228390. 2

536228391. 3
536228392. 4

Question Number : 99 Question Id : 536228101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following fearful weapons arrived with the Arabs when they invaded Sind
n 7127

(A) Naphtha

B) Hawal

(C) Ban

(D) Manjaniq

Choose the correct answer from the options give below :

(1) (A) and (B) only
(2) (B) and (C) only
(3 (C) and (D) only
(4) (A) and (D) only

Options :

536228393. 1
536228394. 2
536228395.3
536228396. 4

Question Number : 99 Question Id : 536228101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228393. 1
536228394. 2
536228395.3
536228396. 4

Question Number : 100 Question Id : 536228102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



With regard to education. which of the following statements are correct?

(A) Tltutmish founded the Nasiriyya madrasa at Delhi in memory of his son prince
Nagsir-ud din Mahmud

(B) Razia appointed Minhaj Siraj as its principal

(C) The Firuz Shahi madrasa was founded by Sultan Firuz Shah Tughlag on the banks of

Yamuna at Ghivaspur

(D) The aristocracy engaged male and female tutors for their sons and daughters

Choose the correct answer from the options give below :

(1)  (A). (C) and (D) only
(2) (A, (B) and (D) only
(3) (B). (C) and (D) only
(4) (A), (B) and (C) only

Options :

536228397. 1
536228398. 2
536228399. 3
536228400. 4

Question Number : 100 Question Id : 536228102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228397. 1
536228398. 2
536228399. 3
536228400. 4

Question Number : 101 Question Id : 536228103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In regard of token currency issued by Sultan Muhammad Tughlaq. which of the following
statements are correct?

(4)  According to Barani, the metal used for the token coins was copper

B) Ferishta says 1t was brass or bronze

() While other coins had only Arabic super inscriptions, the token coin had its legends

in Persian also

D) No care was taken to make the legend on the token coins clear and legible

Choose the correct answer from the options give below :

(L (A). (C) and (D) only
(2) (A). (B) and (C) only
(3) (B). (C) and (D) only

(4) (C) and (D) only

Options :

536228401. 1
536228402. 2
536228403. 3
536228404. 4

Question Number : 101 Question Id : 536228103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(4)  FaE (C) 3 (D)

Options :

536228401. 1
536228402. 2
536228403. 3
536228404. 4

Question Number : 102 Question Id : 536228104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



With regard to the Afghan polity. which of the following statements are correct?

(A) Unlike Bahlol, Sikandar Lodi started sitting on a throne, no noble could share the
seat with him

(B) He still believed in primus inter pares (a first among equals)

(C) In order to impress the superior position of the Sultan on the minds of the nobles and
the people. he laid down elaborate rules for the reception of royal farmans in the
distant parts of the kingdoms

(D) A highly efficient spy-system kept the Sultan informed of all the developments in the
kingdom and particulary of the activities of the nobles

Choose the correct answer from the options give below :

(1) (A). (B) and (D) only
(2) (B) and (D) only
(3) (A). (C) and (D) only
(4) (B) and (C) only

Options :

536228405. 1
536228406. 2
536228407. 3
536228408. 4

Question Number : 102 Question Id : 536228104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(2)  F== (B) A (D)
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(4)  =F= (B) #F (O)

Options :

536228405. 1
536228406. 2
536228407.3
536228408. 4

Question Number : 103 Question Id : 536228105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Malik Ambar brought revolutionary changes in the agrarian and revenue structure of the
Nizam Shahi kingdom. In this context which of the following provisions are correct?

(A) Malik Ambar abolished the farming of land revenue collection
(B) He initiated a system of glance-survey (nazar - pahani)
(<) 'nder nazar-pahani land was divided into baghat and nabud

D) The maximum rate of land revenue was decided between . and 3 of the produce on

different classes of so1l

Choose the most appropriate answer from the options given below :

(1 (&). (B) and (C) only
2) (B). (C) and (D) only
(3) (A). (B) and (D) only

(4) (A). (C) and (D) only

Options :

536228409. 1
536228410. 2
536228411.3
536228412. 4

Question Number : 103 Question Id : 536228105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(4) = (A), (C) #i (D)
Options :
536228409. 1
536228410. 2

536228411.3
536228412. 4

Question Number : 104 Question Id : 536228106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about parvanchas of the Mughal period?

(A) It was the official term for the rescripts of the ministers, grandees of the Mughal

empire
(B) Tt does not require the royal seal
(@ They were issued in accordance with a previous order of the emperar

(D) During the early period of the Mughal dynasty parvanchas were not issued for the

stipulated salaries of the Begums and Princes

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (B) and (D) only
(3) (A), (B) and (C) only
(4) (B). (C) and (D) only

Options :

536228413. 1
536228414.2
536228415.3
536228416. 4

Question Number : 104 Question Id : 536228106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228413.1
536228414.2
536228415.3
536228416. 4

Question Number : 105 Question Id : 536228107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



With regard to the dagh system. which of the following statements are correct?

(A) Abdul Hamid Lahori says that it was the law of the empire that those mansabdars.
who had jagirs in any of the provinces of Hindustan and posted anywhere in the
Empire, were to bring to the muster horsemen equal in number of one-third of their
sawar rank

(B) If they were posted in Balkh and Badakhshan. they had to bring one-fifth

(C) Thiz rule (Balkh/Badakhshan) was later applied on to all those posted in the Kahbul
province

(D) Khulasat-us Siyag. written in the later vears of Aurangzeb's reign. confirms these

laws

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) {A). (C) and (D) only
(3) (A) and (C) only
(4) (B). (C) and (D) only

Options :

536228417. 1
536228418.2
536228419. 3
536228420. 4

Question Number : 105 Question Id : 536228107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228417. 1
536228418.2
536228419. 3
536228420. 4

Question Number : 106 Question Id : 536228108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



With regard to the Sikh Guru Gobind Singh, which of the following statements are correct?

(A) Guru Gobind singh, the tenth Guru of the Sikhs grew up to excel in both martial arts
and spiritual leadership

(B) He reinterpreted the Sikh ideoclogies to justify military action

(C) Prince Muazzam. the governor of Kabul reached an understanding with the Sikhs
and gave them refuge

(D) Prince Muazzam was subsequently ordered to expel the Sikh Guru who had taken
refuge in his province, but he refused to comply with

Choose the most appropriate answer from the options give below :

(1) (A). (C) and (D) only
@ (B) and (D) only
@) (A). B)and (C) only
4) (C) and (D) only

Options :

536228421. 1
536228422.2
536228423.3
536228424. 4

Question Number : 106 Question Id : 536228108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228421. 1
536228422.2
536228423.3
536228424. 4

Question Number : 107 Question Id : 536228109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



From among the following statements regarding Indian National Congress, which one are
correct?

(A4) As a movement. it incorporated different political trends, ideclogies and social
groups/classes so long as they were committed to democratic and secular nationalism

(B) The early nationalist leaders did not organize mass movements but did carry out an
ideological struggle against the oppressors

(C) The early nationalist leaders fought against every infringment of the freedom of press
and speech

(D) They struggled for separation of the judicial and executive powers. and fought against
racial discrimination

Choose the correct answer from the options give below :

(1) &), (B). (C). (D)

(2) (B) and (D) only

(3) (C) and (D} only

(4) (A). (B) and(D) only
Options :
536228425. 1
536228426. 2

536228427.3
536228428. 4

Question Number : 107 Question Id : 536228109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228425. 1
536228426.2
536228427.3
536228428. 4
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Correct Marks : 2 Wrong Marks : 0



Which of the following unpopular legislative and administrative measures were 1nitiated by
Lord Curzon?

(A) Calcutta Municipal Amendment Act
(B) Indian Universities Act

(C) Indian Official Secrets Amendment Act
(D) Local Self-government Act

(E) Criminal Law Amendment Act

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (C). (D) and (E) only
(3) (B). (D) and (E) only
(4) (A). (B) and (D) only

Options :

536228429. 1

536228430. 2

536228431.3
536228432. 4

Question Number : 108 Question Id : 536228110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228429. 1
536228430. 2
536228431.3
536228432.4
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Which of the following peasant leaders initiated the organizational work among the peasants
1n various parts of India to convey their grievances to the British government?

(A) EKunvarj Mehta

(B) Ishan Chandra Roy
(C) Bhaskarrao Jadhav
(D) Sasipada Banerji

(E) Dwarkanath Ganguli

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (D) and (E) only

Options :

536228433. 1

536228434. 2

536228435.3
536228436. 4

Question Number : 109 Question Id : 536228111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228433. 1
536228434.2
536228435.3
536228436. 4
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Which of the following were the features of the Santhal uprising of 18557
(A) The area of uprising was called daman-i-koh

(B) Tribals made a determined attempt to expel the outsiders

(C) Rebels proclaimed the complete ‘annihilation’ of the alien regime
(D) Tribals possessed latest weapons

(E) Tribals were opposed by gwalas and lohars (milkmen and blacksmiths)

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (A). (B) and (E) only
(3) (&). (B) and (C) only
(4) (B). (C) and (E) only

Options :

536228437. 1
536228438. 2
536228439. 3
536228440. 4

Question Number : 110 Question Id : 536228112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228437. 1
536228438.2
536228439.3
536228440. 4
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Which among the following statements are correct?
(A) The imperial and provincial legislative councils were entirely nominated bodies until
1892.

(B) Prior to the India Council Act of 1892, Legislative Councils were granted statutory

powers of discussing budget and putting questions.

(C) The Ilbert Bill storm was the most extreme but by no means isolated expression of

white racism

(D)  The Marley-Minto reforms of 1909 granted dyarchy at the provincial level

Choose the correct answer from the options given below :

(1)  (A), (B) and (D) only
(2) (B) and (D) only
(3)  (C)and (D) only
(4 (A) and (C) only

Options :

536228441. 1
536228442.2
536228443.3
536228444. 4

Question Number : 111 Question Id : 536228113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Nehru's reluctance to re-organise states on the linquistic basis had the support of which of
the following?

(A) Mahatma Gandhi

B) Vallabhbhai Patel

(C) E.M.S. Namboodaripad

(D)  C. Rajagopalachari

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
(3) (A). (B) and (C) only

(4) (B) and (D) only

Options :

536228445. 1
536228446.2
536228447.3
536228448. 4

Question Number : 112 Question 1d : 536228114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

qTE IR T A & THeA % o 156 i zafearea & frafafea § 9 e gueis oy o e
(&)  wETEH W

(B) dgu 9 TeH

(©  {wavm, Jegime

(D) =, T

9 fau v fawedt d 8w I o9
(1) =& (A) 370 (B)
(2)  HEe (A) 31 (Q)
(3)  FAE (A). (B) 37 (C)
(4) a9 (B) 311 (D)
Options :
536228445. 1
536228446. 2

536228447. 3
536228448. 4

Question Number : 113 Question 1d : 536228115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



From among the following statements regarding the Swadeshi movement, which are correct?

(A) The formal proclamation of Swadeshl movement was made on 72 August 1904

(B) During this movement a creative use of traditional popular festivals, such as
Ganapati and Shivaji festivals, and traditional folk theatre forms such as Jatras. were
extensively made

(C) The Indian National Congress declined to accept Swadeshi call at its session at
Benares in 1905

(D) The technique of boyecott’ included bhoycott of foreign goods. government schools,
courts, titles. and government service

Choose the correct answer from the options given below :

(1) (B) and (D) only
(2) (A), (B) and (C) only
(3) (B) and (C) only
(4) (C) and (D) only
Options :
536228449. 1
536228450. 2

536228451. 3
536228452. 4

Question Number : 113 Question Id : 536228115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et A % TA ° fretenad #5551 H T TH 2

(A) ==l AR AT =en 7 S, 1904 6 T |

(B) 9 A AR, T SR R s S TR S Sl SR wiE
T =1 ] SR B0 H T S R T

(C) T T S A 1905 T ST § A S T 1 TR e o ] S 2

ol

D) ‘wfEwEn i wEA A EeE s, SURnl A, =, TS s ] J" w g
T o)

frofeaa fasen 3 @ 7 =0 94
(1) F=4 (B) 37 (D)

(2) == (A). (B) 3T (C)

(3) == (B) ¥R (C)

(4  Fa9 (C) 3 (D)
Options :
536228449. 1
536228450. 2
536228451.3
536228452. 4

Question Number : 114 Question Id : 536228116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements regarding bias and objectivity are correct?

(A) Objective Interpretations in history writing are those which best meet rational

criteria of accuracy, comprehensiveness, consistency and openness.

(B)  If historical explanation occurs accidentally by mistake. through an oversight. one

cannot call them bias but just wrong
(C) Mistakes in biased history are motivated, not accidental

(D) PBiased descriptions are often unjust. presenting a one-sided Impression of their
subject.

Choose the correct answer from the options given helow :

(1) (A). (B) and (D) only
2y (4. ®B). (©), (D) only
(3 (C) and (D) only

(4) (A) and (D) only

Options :

536228453. 1
536228454.2
536228455.3
536228456. 4

Question Number : 114 Question Id : 536228116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

qaiE iR aiEal & w6 | feiaten 4 3 F1 8 w5 59 80
(A)  Sfrem oA 0 age e 9 8 o ufels, s, dafa 3 e s arldies FEd W
it Fevet 2|

(B) =z ufaeree @wE gAEy, T 8 SEE %
a1 S AT B

(C)  atws ufed sfeera § gfeai gdzm 74 o weve #)
(D) aTHE vfed faamo sgan o faw & vs gafg aviy e @ sEiEE Eh )

frerferfiaa et 1 & T T 9P -

(1) e (A). (B) 37 (D)

(2)  FAW (A). (B) (C) R (D)
(3)  =Ad (C) 3IW (D)

(4 HAF (A) 3 (D)

Options :

536228453. 1
536228454.2
536228455.3
536228456. 4

Question Number : 115 Question Id : 536228117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



From among the following statements regarding early orientalism of the British scholars in
India, which one are correct?

(A) By establishing a linguistic connection between Sankrit. Greek and Latin William
Jones privileged India with an antiquity equal to that of classical-west

(B) The fundamental principle of early orientalists tradition was that the conquered
people were to be ruled by the British legal traditions

(C) The early orientalists’ study of Indian customs and laws was to show the barbasic
state of Indian society

(D) The beginning of orientalists’ tradition led to the founding of Calcutta Madrassa. the
Asiatic Society of Bengal.

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A) and (D) only

(3) (B), (C) and (D) only
(4) (C) and (D) only

Options :

536228457. 1
536228458. 2
536228459. 3
536228460. 4

Question Number : 115 Question Id : 536228117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o L

Ed A U Gl SIS YEesEal (SNeeT) § Hed § e e 5 7 e 6w

(A)  woFd, WF IR Hd T ST A e T G A A S s S

T W e

(B)  ARIYH YH=EiE WO 1 g g 91 5 A Sear (s o Eias Tl = g e
Sl

(C)  wardm fifa-farst it w & Gay 8 RS TS0 S B I9d R gEE i e

(D) yHesir WO T ARY W AR SR FeAdhel FET, UEOE A S e sl S 5
famtferiian famem 4 @ w8 =0 94 ¢

(1)  Fa= (A), (B) 1 (C)

(2)  FE (A) #H (D)

(3)  FA (B). (C) = (D)

(4) G (Cy T (D)

Options :

536228457. 1
536228458.2
536228459. 3
536228460. 4

Question Number : 116 Question Id : 536228118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT:

List I Last IT
(Archaeological Site) (Region)
(A) Jorwe (I) Gujarat
(B) Kayatha (I) Maharashtra
(C) Ojivana (III) Madhya Pradesh (M.P.)
(D) Roydi (IV) Rajasthan

Choose the correct answer from the options given below :

(1)  (A)-AD). (B)-dID). (C)-IV). (D)-I)
(2 A-O. B-ID. (O-I1D). (D)-IV)
3 (A-AID. (B)-aV). (O)-AD. (D)-ID
@ (A)-dD. (B)-(ID. (O)-(D). (D)-(IV)

Options :

536228461. 1
536228462. 2
536228463.3
536228464. 4

Question Number : 116 Question Id : 536228118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

gt 1 =1 g=ht 11 % @9 gefaq Hife
il T 1L
(TraTfears e ) (=)
(4) == @O T
(B) =9 (I ==wg
(C) aTfsam (IID) w57 Too
(D) T IV) TFEEE
19 2w T T 9 H HE S o T

I (A4)-1D). (B)-(II). (C)-@V). (D)-(D
2 (&-D. ®-ID, (O)-(IID). (D)-IV)
(3) (A)-(III). (B)-(IV). (C)-(I1). (D)-(T)
(€Y) (A)-L). (B)-(II). (C)-(D). (D)-(IV)

Options :

536228461. 1
536228462. 2
536228463. 3
536228464. 4

Question Number : 117 Question Id : 536228119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II:

(&)
(B)

(C)

D)

ListI

(Vedic River)
Asikni
Parushm
Sutudri

Vipas

ListIT
{Current Name)
(I Beas
(IT}y Chenab
(IIT} Rawvi
(IV) Sutle)

Choose the correct answer from the options given below :

(1
(2)
(3)
(4

(A)-ID. (B)-ID. (C)-aV). (D)-(D
(A)-(IID), (B)-(ID. (C)-(D). (D)-IV)
(A)-1D). B)-D. (C)-(I1I), (D)-IV)
A)-@. (B)-(IV), (C)-aD), (D)-AID

Options :

536228465. 1
536228466. 2
536228467. 3
536228468. 4

Question Number : 117 Question Id : 536228119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T T =1 gt 11 % o gofem S @
T I
(35 =)
(A) A
(B) wE
() =@k
D) T
/= fu T e W H AE T = A
(1) (A)-0T), (B)-IID). (O)-IV). (D)-@)
(2) (A)-(III). (B)-(IL). (C)-(I). (D)-(IV)
(3) (A)-(I1). (B)-(I). (C)-(IID). (D)-(IV)
4 (A)-(D). (B)-(IV), (C)-(II). (D)-(IIL)
Options :

536228465. 1
536228466. 2
536228467. 3
536228468. 4

T II
(STRE I )
O =M
I =
(1) 7t

(IV)y =dacra

Question Number : 118 Question Id : 536228120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T wath List IT:

ListI List IT

(Mahajanapada) (Capital )
(A) Asmaka (I) Kampilya
(B) Chedi (I) Mathura
(C) Dakshina Panchala (ITT) Potana
(D) Surasena (IV) Suktimati

Choose the correct answer from the options given below :

(L (A)-(D. (B)-(I1), (C)-(IID), (D)-(IV)
@  (A)-AV). B)-IID. (C)-O). D)-AD
(3 (A)-1ID). (B)-@V). (C)-(D). (D)-(1T)
@  (A)-aD. B)-@). (C)-IV). (D)-III)

Options :

536228469. 1
536228470.2
536228471.3
536228472. 4

Question Number : 118 Question Id : 536228120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tt 1 =1 gt 11 o =19 gefe i

ListI List IT

(FRTSR) (Tt
(A FTEH (D e
® =f (ID =T
(C) = T=m= (IIT) o7
(D) IFEA (IV) it

i Tau T TaEeu § H HE 3 T A

D (A-O. B)ID. (O)-ID), (D)-AV)
@  (A)-AV). ®)-D. (C)-@). (D)-AD
3 (A)-dID). (B)-IV). (C)-(@). (D)-(ID)
@  (A)-aD. B)-@). (O)-(IV). (D)-(II)

Options :

536228469. 1
536228470. 2
536228471.3
536228472.4

Question Number : 119 Question Id : 536228121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List II:

LastI Last IT
(Term) (Meaning)
(A)  Amir-i koh (Il Intelligence Officer
(B) Amiri Akhur (IT} Secretary
(C) Band (IIT) Officer in-charge of agriculture
(D) Dabir (IV) Officer commanding the horse

Choose the correct answer from the options given below :

(1) (A)-av), (B)-(ID). (C)-dD). (D)-(I)
(3] (A)-(ID. (B)-(IV). (C)-(T). (D)-I1D)
(3) (4)-I10). (B)-I). (C)«(IV). (D)-(IL)
4 (A)-I1D). (B)-AV). (C)-@). (D)-(ID

Options :

536228473. 1
536228474.2
536228475.3
536228476. 4

Question Number : 119 Question 1d : 536228121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

gft T =t geft 11 % #19 geferd Hitao ;

T I T 11

(72) ()
&) onfr-n =@ (D [ s
(B) wAHR-T AT (I ===
(C) =i (D) T =1 TAR SAee
(D) =En (IV) 9] &1 F0H e
I/ 2o ™ e 5 H wE I =3m

oy} (A)-IV). (B)-I1D). (C)-ID. (D)-(D)
2) (A-ID. B-IV). (C)-D). (D)-AID)
(3 (A, B)-d). (C)-IV), (D)-(IL)
4 (A)-D. B)-IV). (C)-). (D)-1L)

Options :

536228473. 1
536228474.2
536228475.3
536228476. 4

Question Number : 120 Question Id : 536228122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List II:

ListI List IT

(Painting Technique) (Meaning)
(A) Khat (). Margin
(B) Tarh (I} Sketch. Outline, Drawing
(C) Rangamezi (IIT) Mixing of colour. colouring
(D) Shamsa (IV) Tluminated heading

Choose the correct answer from the options given below :

1 (A-IV). (B)-IID), (C)-(ID, (D)-1@)
2y (A-ID. B)-D. (O)-av), (O)-11D
3y (A, (B)-IAV), (C)-@). (D)-(IL)
(4) (A)-(D. (B)-ID). (O)-(IID). (D)-(IV)

Options :

536228477. 1
536228478. 2
536228479.3
536228480. 4

Question Number : 120 Question Id : 536228122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

== 1 %1 g I % w09 gHied =0
Tl I T 1T
(=T 7T (i
A4) M =
(B)y @™= @0 T, TEE, T
(Cy Tt ({IT) T7—faor, Tmrs
D) 7= (IV) =i o=
i T2 o feeket H H HAD 3R A S

1 (A)-IV). (B)-(0I). (C)-D). (D)-[M
2 (A-ID. B)-D. (O-aV). (D)-AIL)
3 (4)-ID. (B)-AV). (C)-(D). (D)-(ID)
4 (A-O E-ID. (O-IID, (D)-IV)

Options :

536228477. 1
536228478.2
536228479. 3
536228480. 4

Question Number : 121 Question Id : 536228123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II:

List T List IT
(Source) {Deals with)
(A) Ghunyat-ul Munyah (Iy A treatise on music compiled during

Firuz Tughlag's reign

(B) Fatawa-1Jahandar (II) Deals with system of political
philosophy

(C) Adab-ul Harh wa Shujaat (III) Deals with the art of war-fare

(D) Khazain-ul Futuh (IV) Account of Alauddin Khalji's Deccan
campalgn

Choose the correct answer from the options given below :

(1) (A)-(ITI), (B)-(II). (C)-(I). (D)}-(IV)
(2) (A)-(T). (B)-(ID). (C)-III), (D)-(IV)
(3 (A)-(IT, (B)-IV), (C)-(D). (D)-(IIT)
(4) (A)-(IV), (B)-(IT), (C)-(I1I). (D)-(1)

Options :

536228481. 1
536228482.2
536228483. 3
536228484. 4

Question Number : 121 Question Id : 536228123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tt 1 =1 T 11 F 9 e a0
Tl I =11
(=) (=t )
(A) TEE-IE T () TR S o Bl SR 14
(B) Fo-TEERER (D) I 29 Tomel | T=iEE
(C) E@E-3= 7 a1 A (III) =g e | FEiad
(D) G- TR (IV) HATIEIA Wewl % g0 SAHEM =

= fom o faredt 6 B wE a9

(1)  A-D. B)-ID. (€)-D. (D)-IV)
@  (A-D. B)-aD, (O-dID). (D)-aV)
3 (A)-(aD). (B)-IV). (C)-(D. (D)-(I1I)
(4) (A)-(IV). (B)-(II). (C)-(I11). (D)-(I)

Options :

536228481. 1

536228482.2

536228483.3
536228484. 4

Question Number : 122 Question Id : 536228124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List TI:

List I List 11
(News paper) (Editor)
(A) Free Hindustan (' Shyamj Krishna Verma
(B) Indian sociologist (I) Annie Besant
(C) New India and Commonweal (ITI) Tarak Nath Dutt
(D) Bombay Chronicle (IV) B.G. Horniman

Choose the correct answer from the options given below :

(1)  (A-av). (B)-(II), (C)-@). (D)-(ID)
(2 (AQ)-AID). B)-aV). (O)-aD. M)-O
(3)  (A)-AID). B)-D. (CY«(ID). (D)-IV)
(4)  (A)-aD. (B)-(III). (C)-(IV). (D)D)

Options :

536228485. 1
536228486. 2
536228487.3
536228488. 4

Question Number : 122 Question Id : 536228124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tt 1 %1 g 11 B19 gHiE i
1 I
(FH=T =) (zmTTEh)
@) b fege M TEA
B) e AEET= D) T
(C) =g st=a1 vF FEAETA (III) F=F - 39
(D) =/ FFA (IV) =it 3. FFHEA
frefafaa oo 8 7 =8 o3 9fw

(1 (A)-AV). (B)-(I1D). (C)-(D). (D)-(ID)
(2 (A-D. (B)-IvV). (C)-AD. (D)-@
3 (A)-ID. (B)-D). (C)-(ID). (D)-IV)
4 (A)-1D. (B)-(OI). (C)-AV). (D)-(D

Options :

536228485. 1

536228486. 2

536228487.3
536228488. 4

Question Number : 123 Question Id : 536228125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List IT:

ListI List IT
(Painters) (Their painting style)
(A) Abinindranath Tagore (! Learned lessons from various aspects

of world traditions and blended them
in his paintings

(B) Rabindranath Tagore (I1) Blended common objects and events
with the magic of fantacy

(C) Nandlal Bose (IIT) Developed a personal style that ran
close to the village tradition

(D) Jamini Roy (IV) Made a gripping interweave of naiveté

and sophistication in his paintings

Choose the correct answer from the options given below :

(1) (A)-D). (B)«(ID). (C)-(IIT). (D)-(IV)
3] (A)-IID). (B)-(D), (C)-(II), (D)-(IV)
(3 (A)-aV). (B)-(II). (C)-(@). (D)-AT)
4 (A)-(ID). (B)-(IV). (C)-(D). (D)-(I1T}

Options :

536228489. 1
536228490. 2
536228491. 3
536228492. 4

Question Number : 123 Question Id : 536228125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tt o1 g 11 =19 GHie i
Ll T 11

(&) st U v o i e ?ﬁ § e

(B) T 2R (II) =H= FEeA S 23] 1 e HAHi-
= W % =Y ey

(C) =eTer &| (IIT) ™ =7 Siefi faeptaa =1 =1 9728 W &
Tz i

(D) T T (IV) 71 Feaeel § AieTs 3T T = A
FE H T

frefafaa fawea 4 7 78 =77 =4 ¢

(L (A-@. BID. (C)-(ID). (D)-(IV)
@ A-I. B)-D. (C)-ID. (D)-(IV)
(3  A-av). B)-dl). (C)-@). (D)-(I)
4y (A)-AD. (B)-IV), (C)-D), (D)-dID)

Options :

536228489. 1
536228490. 2
536228491. 3
536228492. 4

Question Number : 124 Question Id : 536228126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II:

ListI List IT
(Historians) (Works)
(A) John William Kaye (I''  The Indian Mutiny in Perspective
(B) Edward J. Thompson (Il Eighteen Fifty-Seven
(C) S.N. Sen (ITT) The Other Side of the Medal
(D) George MacMunn (IV) A History of the Sepoy War

Choose the correct answer from the options given below :

1) (A-IV). B)-III). (C)-AD). (D)-D
2)  (A)-aD. (B)-IV). (O)-D). (D)-(ID)
(3)  (A)-@D). (B)-@). (C)-II). (D)-IV)
(49 (A-IV). (B)-(D. (O)-ID). (D)-(II)

Options :

536228493. 1
536228494.2
536228495. 3
536228496. 4

Question Number : 124 Question Id : 536228126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

==t I =1 gt 11 % =19 gefeq i

T I Tl 1T
(3o ) (T
(B) TU=TE W, 9mTEA (II) T e —m
(C) TE.TA. = (IIT) = =7 |Es AT § 4o
(D) =T wEmE (@) © fe=dt w1 3 faaia =m0

TA=fatgy Eea 3 3 T T o

(1 (A4)-IV). (B)-(III). (C)-(ID). (D)-(I)
2 -, B-IV). (O)-@. (D)-(ID)
(3)  W-AD. (B)-(D. (C)-ID). (D)-(IV)
@ (AD-av). ®-@. (C)-ID, (D)-I1L)

Options :

536228493. 1

536228494.2

536228495. 3
536228496. 4

Question Number : 125 Question Id : 536228127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II:

List I List IT
(Uprising) (Leader)
(A) Ramosi uprising (i  Jatra Bhagat
(B) Kol uprising (Il) Buddha Bhagat
(C) Kacha Nagas uprising (III) Chittur Singh
(D) Oraons uprising (IV) Sambhudan

Choose the correct answer from the options given below :

1)  (A)-AID). (B)-1D). (C)-aOV), (D)-(D
2 (A-ID. B)-D. (C)-(D. (D)-AV)
(3)  (4)-aV). (B)-(D). (C)-(1I). (D)-I)

(4 (A)-@). (B)-{I1I). (C)-aD. (D)-aOV)

Options :

536228497. 1
536228498. 2
536228499. 3
536228500. 4

Question Number : 125 Question Id : 536228127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tt I =1 g I % 3y gafas S

T = 10

(Foreer=r) CEE )
(&) T faem (I) T
B) F= == I =g =
(C) = AT Tawa 1IN Tom ==
(D) =i v Iv) =i
fr=1 f2m o foewl 8§ HE 5 W 99 A

1 (A-AID. (B)-D). (O)-1V), D)-@O
(2) (A)-(IT), (B)-(I1I). (C)-(I). (D)-(IV)
(6)] (A4)-(IV). (B)-(I). (C)-(I1D). (D)-(D)
(4) (A)-@). (B)-I1I). (C)ID. (D)-adV)

Options :

536228497. 1

536228498. 2

536228499. 3
536228500. 4

Question Number : 126 Question Id : 536228128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Chola kings in chronological order:

(A) Kulotunga I
(B) Rajaraja I
(C) Rajendra I

(D) Virarajendra

Choose the correct answer from the options given below :

(1 (A). (B). (C). (D)
(2) (B). (C). (D). (A)
(3)  (C), D). A). B
(4 (D). (A). B). (C)

Options :

536228501. 1

536228502. 2

536228503. 3
536228504. 4

Question Number : 126 Question Id : 536228128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

freferfga =1e T=ns # FeAHEs # HaaT i

(A FEET T
(B) =TS 99H

(C)  Trsg vuH

4 om0 FEem 6 = A9 5w = W

(1 (A). (B). (C). (D)
(2) (B). (C). (D). (&)
(3) (C). D). ). B
(4) (D). (A). (B). (C)

Options :

536228501. 1

536228502. 2

536228503. 3
536228504. 4

Question Number : 127 Question Id : 536228129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In the context of history of art arrange the following in chronological order, starting from the
earliest:

(A) Bhumara
(B) Bharhut

(C) Jaggevapeta

(D) Tanjavur

Choose the correct answer from the options given below :

1 (A).(C).(B). D)
@2  B.(C). @A), D
(3) (0. (D). (B). (&)
@ (D). (A, (©). B

Options :

536228505. 1
5362285006. 2
536228507. 3
536228508. 4

Question Number : 127 Question Id : 536228129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T 5 v 35 Wl Pl o e § AT e f i

(A) HHT

B) WA

(©  w AT

(D) FEE

1 fom o fomemi § | 7H I T =AW

(1) (A (C). B). D)
(2) (B). (). (A), (D)
(3) (C). D). B). (A)
(4 (D). (A). (C). (B)

Options :

536228505. 1

536228506. 2

536228507. 3
536228508. 4

Question Number : 128 Question Id : 536228130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following in a chronological order, starting from the earliest:

(A) The Peripuls of the Erythraean Sea
(B) Si-yu-ki
(C) Manimekalai

(D) Suttanipata

Choose the correct answer from the options given below :

(1) (D). A Q). @B
(2) (©). D). (B). (A)
(3) (A). (C). (B). (D)

4 (B). (D). (). (&)

Options :

536228509. 1
536228510. 2
536228511.3
536228512. 4

Question Number : 128 Question Id : 536228130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FrATTRIa 1 Wael @ W18 o HEEEA 4 SAaad o

(A) 7= ATE 2 I i

® -7
(C)  HowEw
(D)  HEHTE
= fam 7w fameai O W TE T o = W

(1 (D). (A). (C). (B)
(2) (C). (D). (B). (&)
(3) (A). (C). (B). (D)
(€8] (B). (D). (C). (A)

Options :

536228509. 1

536228510. 2

536228511.3
536228512. 4

Question Number : 129 Question Id : 536228131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Malwa Sultans in a chronoclogical order, starting from the earliest:

(A) Ghiyas Shah
(B) Nasir Shah
(C) Muhammad Shah Ghort

(D) Mahmud Khalji I

Choose the correct answer from the options given below :

1 O.®), (©). A
(2) (B). (A). D). (C)
(3) (C). (D), (B). (A)
(4) (C). (D). (A). (B)

Options :

536228513. 1
536228514.2
536228515.3
536228516.4

Question Number : 129 Question Id : 536228131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TreAferiige ATeten G 1 39 SR e ¥ U A T

(&) T e
(B) T IR
(©)  TFoE TmE

(D) TEgE "o I

fr= f2u T e 8 W w9 I T

(1) (D). (B), (C). (A)
(2) (B). (A). (D). (C)
3 (0. D). B). A
@ (0. D). A.>B

Options :

536228513. 1

536228514.2

536228515.3
536228516. 4

Question Number : 130 Question Id : 536228132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following monuments in a chronological order starting from the earliest:
(A) Chashma-1 Nur. Ajmer

(B) Bibi ka magbara, Aurangabad

(C) Tomb of Ttimad-ud daula, Agra

(D) Begum Shahi mosque. Lahore

Choose the correct answer from the options given below :

1 ®),(©C). A, D
(2) (A). (B). (C). (D)
(3) (D). (A), (O). B)

4 (C). (B). (D). (&)

Options :

536228517. 1
536228518. 2
536228519.3
536228520. 4

Question Number : 130 Question Id : 536228132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frefefiaa wmerl 1 SR B d 39 Taaiids HeEd 4 g
(A)  =TEI-T O, S

(B) sl =1 APy, ARTETE

(C)  TAHTE-T7 AT 1 HESAl, AR

(D) &M wFE] qiETE, AER

i1 Taw o e 9 H =AW 9 9

(1) (B). (0). 4). D)
(2) (A). (B). (C). (D)
(3) (D). (A), (O). (B)

4 (C). (B). (D). (A)

Options :

536228517. 1
536228518.2
536228519.3
536228520. 4

Question Number : 131 Question Id : 536228133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following European travellers who visited India in a chronological order starting
from the earliest

(A) Abbe Carre

(B) Fray Sebastian Manrique

(0 Gemelli Careri

(D) Pietro della Valle

Choose the correct answer from the options given below :

(1) (B). (A). (D). (C)
(2) (D). (C). (B). (A)
(3) A B (). D)
4) (D). (B). (A). (C)

Options :

536228521. 1

536228522.2

536228523.3
536228524. 4

Question Number : 131 Question Id : 536228133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e | T A P JREE ATCE] AR e T S Gl hiemEsE. 5 i
(A) TEH

(B) T Tefezad #iE

(C)  Hu=i =]

D) oz zen A=
fr=1 f2m T famedl O © A9 I #9996

(L B (A). D). (C)
2 (D). (C). (B). (A)
3  A.B.(©).D
(4) (D). (B). (A4). (O)

Options :

536228521. 1
536228522.2
536228523.3
536228524. 4

Question Number : 132 Question Id : 536228134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Saiyyid Sultans in chronological order starting from the earliest:

(A) Alauddin Alam Shah
(B) Muizzuddin Mubarak Shah IT
(C) Khizr Khan

(D) Muhammad Shah IV

Choose the correct answer from the options given below :

(1) (C). (B). (D). (A)
(2 (B). (A). (D). (C)
(3) (C). D). (B). (A)

(4) (D). (C). (B). (A)

Options :

536228525. 1
536228526. 2
536228527.3
536228528. 4

Question Number : 132 Question Id : 536228134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeTfeTiEs #4248 Goari H AR HE 5 ST TR wenaEd o v

(A) AR A W
(B)  USadH gEEE ImE 11
(C) TEFEA

(D) =g = IV

fra fau o famed § H BE 59 % 98T 9

(1) (C). (B). (D). (A)
(2) (B). (A). (D). (C)
(3) (C). (D). (B). (A)
(4 (D). (C). (B). (&)

Options :

536228525. 1
536228526.2
536228527.3
536228528. 4

Question Number : 133 Question Id : 536228135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Chronologically arrange the following acts according to their date of enactment:
(A) The Official Secrets Act

(B) An Act for the Better Control of Publication in Oriented Languages

(C) The Indian Press Act (Emergency Powers)

(D)  Registration of Press Act XI

Choose the correct answer from the options given below :

1 A, B. ). D
@ D). ®).A.©
(3) (B). (A), (C). (D)
4) (C). (D), (B). (&)

Options :

536228529. 1

536228530. 2

536228531.3
536228532. 4

Question Number : 133 Question Id : 536228135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et sfafaal &1 39 stfufages 61 fafa & sEEr FegsEs =9 8 sgafem w1t

(&) 7 snfwlraes Hehon TR
(B) U UFZ W g 42 Aalel AT TieAhA 2 Sz sy
(C) 7 =edq Uy v (wHrE] arad)

(D) TR FE UE uE X1
freferfas fasmedl § 8 98 390 =1 =999 =1

(1) (A). (B). (C). (D)
(2) (D). (B), (A). (C)
(3) (B). (A). (C). (D)

4) (C). (D). (B). (A)

Options :

536228529. 1
536228530. 2
536228531.3
536228532. 4

Question Number : 134 Question Id : 536228136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the establishment of the following assoclations chronologically starting from the
earliest:

(A) Mahajana Sabha of Madras

(B) Rajahmundri Social Reform Asssoclation
(C) Allahabad People’s Association

(D) Indian Association of Lahore

(E) Poona Sarvajanik Sabha

Choose the correct answer from the options given below :

1 A ®B).(©), D). (E)
(2 (B D). (©). B, @A)
(3 (D). (B (A).®B.(©)

(4) (B). (), (D). (E). (&)
Options :
536228533. 1
536228534.2

536228535.3
536228536. 4

Question Number : 134 Question Id : 536228136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT | TP FAd 7 AferiEd Bl 6 ST F e 5 A

(A)  TEE TEEE I

(B) Tl " TR e
(C)  =eTe@E died nEEueE

(E) T EEEE 54

(1 (A). (B). (C). (D). (E)
2 (E), D). (©) B, &)
(3  D.(E).@A.®.©
4 (B).(0). D). (E). @A)

Options :

536228533. 1
536228534.2
536228535.3
536228536. 4

Question Number : 135 Question Id : 536228137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the establishment of the following institutions chronologically starting from the
earliest:

(A) Fort William College. Calcutta

(B) Asiatic Society of Bengal

(C) Sanskrit College, Banaras

(D) Calcutta Madrasa

Choose the correct answer from the options given below :

(1 (0). (D). (B). (A)
(2) D). B). (©). (&)
(3) B). D). (O). (AW

4 (A D), (©C). (B

Options :

536228537. 1
536228538.2
536228539. 3
536228540. 4

Question Number : 135 Question Id : 536228137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT B WE Fra 7Y Frefefad e 1 s F FweEEy § e
(A) R faferm FieE, we

(B)  ufyrfes wrwgd S e

(C)  =Fa Hictd, sHrH

(D) et HatHl

=1 fau o fomredi § B wd 39w 99 w6

(1) (C). (D), (B). (A)
(2) (D). (B). (C). (A)
(3) (B), (D). (C). (A)
(4) (A). (D), (C). (B)

Options :

536228537. 1
536228538. 2
536228539.3
536228540. 4

Question Number : 136 Question Id : 536228138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements ; One 1s labelled as Assertion A and the other 1s labelled as
Reaszon R.

Assertion (A):  The People of Harappan civilization are said to have commercial links wih

the people of the Tigris and Euphrates basins.
Reasons (R) : There is no archaeological evidence to substantiate the hypothesis of trade
links with Mesopotamia.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) {A) 1s not correct but (R) is correct

Options :

536228541. 1
536228542.2
536228543. 3
536228544. 4

Question Number : 136 Question Id : 536228138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a1 woF B T § v H AR (A) @1 I TS (R) Fa TR

ATTFET (A) ; UHT GE1CSET £ R RSO BT % @k SaeT—FOR AR =iedl & A & E
i ded 9|

7% (R) : THI FIE GATca® WA qE R 5 SEeaa F wy S gah) F i 6
qf% = Fi

T AT F ST ° A 20 e § o w39 I A

@ (&) 3 ®)Z T E R R). (A) B wE =
@ (@) s @ A e, ®), Q) F =
(3) (A) =# 7, g (R) To3a 7

@ (A=A R R EE

Options :

536228541. 1
536228542.2
536228543.3
536228544. 4

Question Number : 137 Question Id : 536228139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A): The Gupta period saw the ascendency of Hinduism. especially

Bhagavatism or Vaishnavism

Reasons (R) : Fahsien gives the impression that Buddhism was flourishing during this
period. It may be said first that four Buddha images were added at the
four entrances of the great stupa of Sanchi. Nalanda also became a centre

of Buddhist education during this period.
In the light of the above statements, choose the most appropriate answer from the options
given below :
(1 Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) 1s false
(4 (A) is false but (R) is true

Options :

536228545. 1
536228546. 2
536228547.3
536228548. 4

Question Number : 137 Question Id : 536228139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 3 F9 B T E UF @ ANHa (A) T g F a (R) TR T

HORST (A) : T ® g 9, [SemEa: qEa 96 =1 S an w3 5
7% (R) : TR % FYFHEAN 39 A F A Eﬁa P R 2 ‘iﬁa@m AT £

T == % TErT ® =0 SEEE W T i Dﬁfﬂ@wﬁﬁﬁﬁlmw = B

Fi wrerer # sitg frEn = ey w9 T )

T FAT % A ° A 50 T e ¥ ges I e

(1)  (A) 3T (R) 21 g7 2 391 (R), (A) =1 51 =qmen 2
(2) (A 3R (R) A1 # F v, (R). (A) =1 WE = A6 2
3 @ FE®R T
@ (AT E, R
Options :
536228545. 1
536228546. 2

536228547.3
536228548. 4

Question Number : 138 Question Id : 536228140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A): The Peshwas imposed their writ over the sardars, made over conquered
territories to their own nominees and relentlessly extended the circle of

areas on which chauth and sardeshmukhi were imposed.

Reasons (B) : The Peshwas combined professed lovalties to two sovereigns., the
Chhatrapati and the Mughal Emperor. and actual autonomy from both.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) 1s true but (R) is falce

(4) (A) 1s false but (R) is true

Options :

536228549. 1
536228550. 2
536228551. 3
536228552. 4

Question Number : 138 Question Id : 536228140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= fau T 77w W O UF AEEe (A) @R 250 FE (R) F

SATHFEA (A) T EER T AT 9 = A, fafea G 6 s qEn w9 s 3

1 =1 ST e e T o, SR T A il e ﬁaq?ﬁﬁa%l

i - o
AT FETA] BEE =

IUEE FUAT AT AN (9 T {SeT § H SR WA 6

1) @R ®) 3 T E A R), Q) F 7 =2
(2)  (A)#F (R) T4 =@ 2 7, (R). (A) =1 781 =me 73 2
(3) (A)FFEE, Fa (R) ™ 2

@ (A=A E, e R) T2

Options :

536228549. 1
536228550. 2
536228551.3
536228552. 4

Question Number : 139 Question Id : 536228141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R.

Asszertion (A): It was within the political and cultural framework that Bharatendu
Harishchandra created and developed his own brand of nationalist
thinking and writing.

Reasons (R) : Being a subject of the British raj. Bharatendu Harishchandra saw no

contradiction in the co-existence of loyalty to the rulers and fierce

patriotism.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (4)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)
(3) (A) 1s true but (R) is false

(4) (A) is false but (R) is true
Options :
536228553. 1
536228554.2
536228555. 3
536228556. 4

Question Number : 139 Question Id : 536228141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 31 Fo fqm e 2 2 v 1 AfaEeE (A) S ZE # T9F (R) Fe T

AT (A) ; IS wtPrEs T S Aep g b e e ar i e s

TF (R) fofeat 15 A 2 % T, qWAG s F AER F GG AT TGS A9+

e AT | B AT A5 e

ITE AT S § et T 4 8 we e g

Q) (A s ®) T T E R Q) FEE = ®)
(2) (A #r R) = T 2w, Q) F w7 =men R) R
(3) (A mH 2, v (R) 72 795 &
4 (A) =# 74 2, w1 (R) TA 2
Options :
536228553. 1
536228554 2

536228555. 3
536228556. 4

Question Number : 140 Question Id : 536228142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion A and the other is labelled as

Rea=on R.

Assertion (A) : Colonial Science was Inextricably woven into the whole fabric of
colonialism.

Reasons (R) : Colonial Science did not come in a neat package; the claims of universality

and the utility of Science messed up its 1dentity.

In the light of the above statements. choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)
(3) (A) 1s true but (R) 1s false

(4) (A) is false but (R) is true

Options :

536228557. 1
536228558.2
536228559. 3
536228560. 4

Question Number : 140 Question Id : 536228142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 21 %A fom e B sk SR (A) 3R 9w a6 (R) G

Ffaer (A) ; SfET (@57 IUTegEre % 79y aH-a 6 51U AieE =9 E TR g

7% R) SiafETiER a5 T7a #Ar % &y TE Sy v (ST et T g
% @l 4 gHehl TEE i Gge & fo o)
ITAE HAA % AT § efafan fawed 4 8 98 I g
(1) (A) 3 (R) 2= 78 & 3 A) F o = ((R) B
(20 (A) IR (R)ZH TR & T, (A) T HE = (R) 1@ 2
(3) (AT 2, T (R) wé 8 2
(4) (A HE TE B, WA (R) HE 2
Options :
536228557. 1
536228558. 2
536228559.3
536228560. 4
Sub-Section Number : 2
Sub-Section Id : 5362285
Question Shuffling Allowed : Yes

Question Id : 536228143 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)
Question Label : Comprehension



Read the following passage from the Arthashastra of Kautilya, and answer the following
qguestions :

The Superintendent of cattle should know about cattle looked after in return for a
wage. tended with a tax and a fixed return, become useless and cast off, entered in the state
hards by payment of a shares the total number of cattle in herds. cattle that are lost or have
perished, and the total produce of milk and ghee. The cowherd, the buffalo-herdsman. the
milker, the churner and the hunter should look after do one hundred milch-cows, receiving a
wage in cash. For, if given a wage in milk and ghee, they might do harm to the calves. These
are cattle looked after for a wage. One person should look after one hundred animals
containing an equal number of aged cows, milch-cows. cows with young, cows with calf for
this first time and heifers. He should give eight vasrakas of ghee, one pana per animal and
the hide with the mark. every year. This is tending with a tax and a fixed return. Herdsmen
looking after one hundred amimals divided into an equal number of cows that are
diseased.that are crippled, that do not allow another person to milk them. that are difficult
to milk and that kill their calves. should give a share appropriate to that class. These are

cattle become useless and cast off.
Sub questions

Question Number : 141 Question Id : 536228144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

How many aged cows and how many helifers 1s one herdsman assigned in the above passage?

(1) Twenty and forty respectively (2) Twenty and twenty respectively
(3) Thirty and twenty respectively (4) Twenty and thirty respectively
Options :

536228561. 1
536228562. 2
536228563. 3
536228564. 4

Question Number : 142 Question Id : 536228145 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For which of the following was there a pavment in both kind and cash?

(1) The milker and the churner
(2) The second category of the responsibilities of the Superintendent
(3) The cattle that are lost or have perished

(4) Herdsmen looking after crippled cows.

Options :

536228565. 1
536228566. 2
536228567. 3
536228568. 4

Question Number : 143 Question Id : 536228146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Why were those who looked after milch cows not paid in milk and ghee?

(1) So that they do not consume milk and ghee excessively
(2) Because they would become lazy and careless in their work, if paid in kind
(3 So that they do not deprive the calves of their share of milk
(4 Because 1t was more profitable for the state to sell milk and ghee in the market
Options :
536228569. 1
536228570. 2
536228571.3

536228572. 4

Question Number : 144 Question Id : 536228147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

How many catgories was the work of the Superintendent of cattle divided into?

(1) Four (2) Five
(3) Six (4) Seven
Options :

536228573. 1

536228574.2
536228575.3
536228576. 4

Question Number : 145 Question Id : 536228148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What are the work and the entitlement of the hunter in the %h&vefﬁasa‘s_ggé?f

(1) Looking after milch cows and payment in kind
(2) Looking after aged cows for payment in hide
(3 Tending heifers in return for a wage

(4) Locking after milch cows in return for a cash wage

Options :

536228577. 1
536228578.2
536228579. 3
536228580. 4

Question Id : 536228143 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)
Question Label : Comprehension
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T 2o =nfew) 3 OF uwp 2 = SR A e # ofi o fom o E)

Sub questions

Question Number : 141 Question Id : 536228144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) = s 3 =E (2) o W AT S
(3)  =mm; A WA A (4) T §F T A"

Options :

536228561. 1
536228562.2
536228563. 3
536228564. 4

Question Number : 142 Question Id : 536228145 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Frefetaa 9 @ fFas fom =7 o 79 2 8 yrae e s o
(1) 29 e a1l 37 " 91t st & e
(2) AefieEF 1 et = BEE A &
(3)  UH YISl T fo0 W @0 E A W T E
(4) T T e T T =+ e
Options :
536228565. 1
536228566. 2
536228567. 3

536228568. 4

Question Number : 143 Question Id : 536228146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228569. 1
536228570. 2
536228571.3
536228572. 4

Question Number : 144 Question Id : 536228147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

536228573. 1
536228574.2
536228575.3
536228576. 4

Question Number : 145 Question Id : 536228148 Question Type : MCQ Option Shuffling : No Is'Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

536228577. 1
536228578.2
536228579. 3
536228580. 4

Sub-Section Number : 3
Sub-Section Id : 5362286
Question Shuffling Allowed : Yes

Question Id : 536228149 Question Type : COMPREHENSION Sub Question Shuffling Allowed
Question Numbers : (146 to 150)
Question Label : Comprehension

: Yes Group Comprehension Questions : No



Read the following passage and answer the questions given below :

The Timariots. Governors and Revenue contractors on their part, reason in this
manner. Why should the neglected state of this land create uneasiness in our minds? And
why should we expend our money and time to render it fruitful? We may be deprived of it in
a single moment. and our exertions would benefit neither ourselves nor our children. Let us
draw from the soil all the money we can. though the peasant should starve or abscond and

we should leave it. when commanded to quit, a dreary wilderness.

Sub questions

Question Number : 146 Question Id : 536228150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The above observation is made by which of the following European traveller?

(1) Thomas Bowrey (2) Jean Baptiste Tavernier
(3) Francoiz Bernier (4) Jean de Thevenot
Options :

536228581. 1
536228582.2
536228583.3
536228584. 4

Question Number : 147 Question Id : 536228151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

By Timariots’, the traveller refers to which of the following Mughal official?

(1) Mansabdar (2) Jagirdar
(3) Tjaradar (4) Subadar
Options :

536228585. 1
536228586. 2
536228587.3
536228588. 4

Question Number : 148 Question Id : 536228152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

On the basis of the above ocbservation which of the following historian has argued that the
Mughal system of transfer of Jagirs led to the expolitation of peasantry that in turn created

‘crisis’ in the Mughal empire?

(1) Irfan Habib (2) Satish Chandra
(3) J.F. Richards (4) M. Athar Ali
Options :

536228589. 1
536228590. 2
536228591. 3
536228592. 4

Question Number : 149 Question Id : 536228153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following was not the characteristic of the Mughal jagir system?

(1) Mughal jagirs were frequently transferred

(2) Under Aurangzeb jagirs were made permanent and hereditary

(3) Jagirdars used to employ their agentz to collect the revenue

(4) Jahangir instituted altun-tamegha jagirs to be held permanently
Options :

536228593. 1
536228594. 2
536228595.3
536228596. 4

Question Number : 150 Question Id : 536228154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following chronicles of Shahjahan's reign mentions that the practice of 1jara
became very common during Shahjahan’s reign and that it was one of the causes of the ruin
of the peazantry?

(A) Abdul Hamid Lahori
(B) Muhammad Salil Kamboh
(C)y Muhammad Waris
D) Muhammad Sadig Khan
Options :
536228597. 1
536228598. 2

536228599. 3
536228600. 4

Question Id : 536228149 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 536228150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

7 feomfl frmfafea @ 9 g e 3 3 #5127

(1) o = (2) = sl At

(3)  FwrEE A (@) T A
Options :

536228581. 1
536228582.2
536228583. 3
536228584. 4

Question Number : 147 Question Id : 536228151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

536228585. 1
536228586. 2
536228587. 3
536228588. 4

Question Number : 148 Question Id : 536228152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228589. 1
536228590. 2
536228591. 3
536228592. 4

Question Number : 149 Question Id : 536228153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228593. 1
536228594. 2
536228595. 3
536228596. 4

Question Number : 150 Question Id : 536228154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
536228597. 1
536228598. 2
536228599. 3
536228600. 4
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